GENERAL SCIENCE - BIOLOGY - 200 QUESTIONS / SET -1

1. Sex determination in humans is due to the presence of:
wgsat & foi fRuRor fGad suf@fa & sror gar &
A. Presence of X-chromosome in female /ATaT & X-T[oREA &t IufAfa
B. Presence of only Y-chromosome in male /=R & $ad Y-T[URA &I IUfAfT
C. Formation of two types of eggs by female /HTaT gRT & TR & 37s &r fwfor
D. Formation of two types of sperms by male /=R gRT & UHR & E1U[ait &1 fafor

Sex determination in Human beings

PARENTS : FATHER MOTHER
Xy XX
GAMETES (\) ) ' :
(Reproductive cells) b
Zygote
formed XX XX Xy XY
after fusion  pEpaTE FEMALE MALE M
of gametes
|
: 50% probability 50% probability
offspring of a female child of a male child

Q2. The presence of following kind of bacteria in water indicates contamination by disease causing micro-oganisms

e B g UoR & Sfiarugsit G 3uf@fa A7 Icud aR aTer Ger Shat gRT TguuT &1 $d aedt &

A.  Agrobacterium /widd s
B.  Coliform /&ifeide
C. Pseudomonas /FgHHT

D. Lactobacillus /Aeeafdery
The presence of coliform bacteria can indicate there may be harmful pathogens in the water.

FIATEI ST H IufRAA T8 dHhd ¢ Tod! ¢ & ot & gTfReRs o & T &

Q3. Identify the cells whose secretion protects the lining of gastro-intestinal tract from various enzymes.
I DIABI3 B Ugar HY fowept T1g A0 Uomed! I SToizr daelt 7T & 3R Y I8 el gl

A.  Chief Cells /g% SIfAPY

B. Goblet Cells /7eilee SIfAbra

C.  Oxyntic Cells /3RS HIfABTY

D. Duodenal Cells /333 SIfABTY

Goblet cells secrete mucus and protect the gastrointestinal tract from various enzymes.

They are present throughout the mucosal epithelium.

Chief cells secrete pepsinogen, oxyntic cells secrete HCl and the intrinsic factor.

TiseAe PIRNBTT THTH T T1 TeAT § 3R o el vt o faf e Tomewt & wr=medt 2

A R P IuSeT & T B

TR HIFAPTT VIS BT 1T el 8, A DHAST Taiive 3iR 31idRe SRS o1 91d et &

Q4. Which among the following are the non-green heterotrophic plants ?

Fofofaa & § 9 R-2% Ruwod da &2
A.  Algae /dareT
B. Ferns Techofwor /%8 e@aiihaR
C. Fungi /®a®
D. Mosses /@Tg

Q 5. Which among the following fishes does not have Central Nervous System?
Frofafad & & 5w mod § S dHer 7 78 gar 82

a) Dog Fish /g fther

b)  Cuttle Fish /&cet fther

c) Jelly Fish /Sifcftsar

d) Star Fish /%R ftser
Jellyfish and sea jellies are the informal common names given to the medusa-phase of certain gelatinous members of the sub-
phylum Medusozoa.
Jellyfish do not have specialized systems for osmoregulation, respiration and circulation, and do not have a central nervous
system.
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Jefifirer 3R T Jeft IU-Te AgHISISN & $8 fSafery Tew! & Agar-wur &1 faw v srtuaniRe g 1 &
Jfftser # sioiRTgReE, 4o 3R uRdRor & fae Ay Rwew 78 ia €, ok S dfaer &= 78l @ar 21

Q 6. Which of the following Kingdom represents bacteria?
Fofafae # F Fi a1 amren Sedifar o1 ufRffaa war &2
a) Monera /HRT
b) Protista /uifexer
Protozoa /9idita
Metazoa /AeTstat

The Monera kingdom contains unicellular organisms with a prokaryotic cell organization, like bacteria.

They are single-celled organisms with no true nuclear membrane. The taxon Monera was first proposed as a phylum by Ernst
Haeckel in 1866.

HRT T # dedifar SR Widfaifes Sifde @  ary vee b s g 8

F UBA-SIADT aTet Siig & FHTH HIE areafaes RATY] fEreett TET &1 ST W1 &7 Uit R 1866 T 31R< 3&cl gRT U T9 & §T | TTiad fhar
T AT

Q7. Down Syndrome is also known as:
213 S & g wu & off ST ST 2
a) Edwards syndrome /usasd g
b) Patau syndrome /gerss figH
Mongolism /#Tiearg
None of the above /g8 & &I oft &)

Down’s syndrome, also known as trisomy 21, is a genetic disorder caused by the presence of all or part of a third copy of
chromosome 21.

Down’s syndrome is the most common chromosome abnormality in humans. It is typically associated with a delay in cognitive
ability (mental retardation, or MR) and physical growth, and a particular set of facial characteristics

s1a A3, O greamdY 21 & &0 & off I ST 2, U6 Safis IR § S i 21 6 e ufafaft § o o oo it fr suafa s
HRUT G 2

=13 g ogw! § Ted o1 URIA SRATHTICT €| U SMHAR | AT ST (WA HedT, a1 THaTR) 3R endiftes e # 3% siR Iy &t
fadiwarat & v QAT de A ST Ear 1

Q 8. Which among the following is aromatic dried flower buds of a tree ?
Fefafed # § F1F ve I3 6 grifad @ oo o ot £
a) Black pepper /@Teit Tt

b) Clove /et
c)  Cumin /SRt
d) None of the above /&8 d &I oft &

Cloves are aromatic dried flower buds of a tree.

Cloves are native to Indonesia and used as a spice in cuisines all over the world.

Cloves are now harvested primarily in Indonesia, Madagascar, Zanzibar, Pakistan, and Sri Lanka; they are also grown in India
under the name Lavang.

T U Us 6 Grifdd T et & st gl B

T EEMRET & 7 Rar & &k gar @ & oioHt & 7aTe & §9 # 3ugi fae o &

T 319 TR ¥ I TERRTT, ASTIRGR, FieiaR, Uit 3R sficiaT & HreT ST 8; § YR & waw 79 & off 3w S €

Q 9. Which among the following function as locus of biochemical reactions?
Frefafed # & Fi9 e Tamfie ufafearst & e & v # o o 22
a)  Cell plasma /AT wirHT
) Cell membrane /&feT faleeit
c) Cell walls /i fafy
) None of the above /370 & HI$ ot T&f

(=}

(=X

The cells membranes hold enzymes of sequential reactions in close proximity

FIRADT fEreet Sl ufaftharsil & Tt o Rdedt # Radl &
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Q 10. If Red blood cells in kept in distilled water what will happen?
T AT Th HIOIHI3I B S STt B AT ST &Y FT &2

a)  Shrink and collapse /f@rsT iR fRaT

b)  Stick together /Taqc 3@

c) Increase in volume and burst /U&qe &

d) Remains same /TH &dT &
In distilled water, the concentration of water is higher outside the RBC than on the inside, as RBC contains salts and proteins. As
there is difference in the osmotic pressure, the distilled water will flow into the RBC, thereby increasing its size or swell and
eventually, causing it to lyse.
SR ST H, T BT AigaT 37ex H g1 § RBC & S1aR 310 gl 2, Fifes RBC # wrawr 3k Md g &1 Sm 5 simamnfess aama o e ghar
2, Imgd ST SRERAT B warfad g1, OO ST SER §¢ AW AT el ST SR 3id &, Tg @189 ST HROT F47|

Q11. Which among the following diseases is also known as "Pink Eye"?
Fafafed # & fea A ot e o & T & off ST Sar 87

a)  Conjunctivitis /AAS AT

b) Myopia /amaifaar

c) Astigmatism /gfedurr

d) Presbyopia /S=eTdifdaT
Pink eye or Conjunctivitis is an irritation or inflammation of the conjunctiva, which covers the white part of the eyeball. It can be
caused by allergies or a bacterial or viral infection.
i a1e a7 FoifdTarsieq doifaeaT B A AT ol €, SiT " ATed & Tthe 28 B o odl &1 T8 Toisl! 3T STERAT TT IR THHUT F HROT T
T 2

Q12. Bubo bubo is the scientific name of which of the following species?

3o g FrafeIfE 8 A R v @ dwhe T 82

A.  Cock / quf

B.  Peahen/dR-T

C.  Falcon/srst

D. Owl/3eq

Sol-

Native to America, the great horned owl is a large owl species. Its scientific name is Bubo virginianus.
Cock -Gallus gallus domesticus

Peahen - Pavo cristatus

Falcon - Falco

et & W fard, wer Hi aTdr Io) Ue SE) oo UeTTa 81 $eT dafaes A ga afifa 2
Fie -Tiert o Sfesd

T - Tt fvdew
HIed - o]
Animal Sclentific Family |Class| Kingdom —
Name Span
Great Bubo 20-
horned | . =~ Strigidae || Aves | Animalia| 30
owl |Virginianus years
House | Corvus . - 7-20
crow |splendens Corvidae || Aves| Animalia years
7
Northern .
saw- aAcng(i)chS: Strigidae | Aves| Animalia ye:rrs
whet owl
less
15
) Columba ) . |lyears
Pigeon livia Columbidae | Aves | Animalia or3-5
years

Q13. The causative agent of Tuberculosis is
U BT RS FRS FH & ?

A.  Mycobacterium/ATgdiaaeiad

B.  Aspergillus/Tamfsiers

C. Rhabdovirus/Tgasarsyd
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D.  HIV/gF st amm

Sol-

Tuberculosis(T.B) is an infectious disease usually caused by Mycobacterium tuberculosis. Tuberculosis generally affects the
lungs, but can also affect other parts of the body

Most people infected with the bacteria that cause tuberculosis don't have symptoms. When symptoms do occur, they usually
include a cough (sometimes blood-tinged), weight loss, night sweats and fever.

Hence causative agent of T.B is Mycobacterium.

& T (E1.4Y) U TepTHS AT B ST AR | WSS T IRGH SR & HRUT AT | &7 T STHAR W BWweET B YuTfad o 8, A I8
SRR F o T Y off TR o TeeT &

AULE BT HRUT I a1t ST F TorfAd ifAapier wirmt # wreror 78t g &1 Sig werr 819 €, a1 398 SR W @i (Gfl-wft g7 & wraay),
T HH EHT, I Y GIAT 3R gaR et 81 €

Fafore At &7 IR Toie ATsE AT 2

Q14. Hay fever is a sign of
TRITS-S3R BT T T 27

A.  Malnutrition/gaYsor
B.  Allergy/uersit

C. Old age/ggmr

D. Over work/ 3ifasm
Sol-

Allergic rhinitis is a diagnosis associated with a group of symptoms affecting the nose.

These symptoms occur when you breathe in something you are allergic to, such as dust, animal dander, or pollen.
Symptoms can also occur when you eat a food that you are allergic to.

TAfies TS 1 B Ui aRY aTel @&l & Tig A 91 U e 21

A AT 79 B & o 3T e W AT & wig @ & @ s vt @it B, S8 b o, SRt b w5 71w

TAE0T T+t BT Hebel & ST ST AT AT @M & TR S versh 8

Hay Fever
Symptoms
J

Headache

lchy, et
orwalery eyes

Runnyor
‘biocked nose

Q15. The normal RBC count in adult male is
T g QoW & T RBC &t TReaT et gt &2
A. 3.5 million/ 3.5 fafermT

B. 5.0 million/5.0 fafaa=
C. 2.5 million/ 2.5 fafeaa
D. 4.0 million/ 4.0 fafams

Sol-
Normal RBC ranges are: Male: 4.7 to 6.1 million cells per microliter (cells/mcL) Female: 4.2 to 5.4 million cells/mcL.

T IR O §: T 4.7 F 6.1 AT SIfAST ufa ArediciicR (S A/ Trdive) Afzar: 4.2 ¥ 5.4 e Sifew/ i)

Quie. Tetanus is caused by

e fud grT T 27
A.  Clostridium/aeRdfEag
B. Virus/arma
C. Bacteriophage/Sftarupweft
D. Salmonella/dreHIer

Sol -

Tetanus is an infection caused by a bacterium called Clostridium tetani.
Spores of tetanus bacteria are everywhere in the environment, including soil, dust, and manure.
The spores develop into bacteria when they enter the body.
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T TEIEIRTH 2T A SdTU] & HRUT EN 1T Tehuor 8|
g, ger 3tk e Afdd yafaor # & S1g Teaw daifar & ey 81 €
FIAT] R F AT R &Y Fae T § e g 5

Q17. Which disease is caused by a dog bite?

FTA S PEAT BT IATATECATE ?
A.  Influenza/ TS
B.  Scurvy/ ¥bdl
C. Rabies/&s
D. Cancer/ &R

Q18. Chocolate can be bad for health because of a high content of
&t a1t AT R Y aorE F Iidaie W F e e 8 wddr §

A.  Zinc/ ST

B. Cobalt/ ®iaTee
C. Lead/ ¥t

D. Nickel/fda

Chocolates can be bad for health because of a high content of Nickel. Chocolates, especially that of raw cocoa, can contain
heavy metals like cadmium (Cd), lead (Pb), nickel (Ni). Out of the three, Nickel (Ni) is the most abundant toxic metal and its
presence creates a serious risk to children's health.

e $t 3= Al F FROT Aideic TR & AT @e & wad! B Aidaie, Iy ¥ 3 T Fier § Fsfimw (H), @ (), e () kb
TS e Y Tt 1 A & Pt (Ni) Ty 3Rl wraT & Srefieft 61 ¥ it et Sufa a3 wreen 3 favg U ity werT dar aeelt

Q19. Which of these helps to diagnose a heart problem?
7 6 TR Y i o § P F A S v grar ® 2

A. EEG

B. ECG

C. BCG

D. ECT
No abnormalities

r A A A A A A Ml

1st degree AV block (1dAVb)

oil vt ve

A AN~ A Mot

A

Right bundle branch block (RBBB)

pil V1 ve

P e A

Q20. Which part of the human ear vibrates according to the sound received?
T 1 aTelt @i & SR WIS & 1 & 1 e # U gl & 2

A.  Auditory nerve/ $igur dfaeT

B.  Pinna/ ®ufureit

C. Hammer/ 3w

D. Tympanic membrane/ & &T Gaf

The tympanic membrane is a thin, cone-shaped membrane that separates the outer or external ear from the middle ear.
The role of the tympanic membrane is to facilitate hearing by transmitting sound vibrations from the air to the bones in the
middle air.

The oval window is an opening covered with a membrane that leads from the middle to the inner ear.

A part of the inner ear involved in hearing is known as the cochlea.

R fRBreet! U Taeh, % & SHR H Rcett gt & ST STl a1 S188 S &Y 7 S J 31T aRet gl

B B et 61 fieT T A A O @Y ey gar § 53t ae Waia ad G 6 G Tar @ 3|

FSTHR RSS! T freott & Tt Ta 135 & St Aer & fiadt & ac ot 31
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G # e il ST &1 U fow Siawiiar & ¥ § ST ST 2

Q21. Which of the following can be used for biological control of mosquitoes?
TRl & s Fgror & fare g & & fwet v fsar s awar @ 2

A.  Gambusia/ TfEET

B. Ointments/ W&H

C. D.D.T/SE&

D. Oil/da

Gambusia can be used for biological control of mosquitoes. Gambusia is a fish species that feeds on larvae of mosquitoes.
Oil can also be used to prevent the breeding of mosquitoes on stagnant water by creating an oil slick on water.
Ointments are used by humans which provide protection from mosquito bites.

Dichlorodiphenyltrichloroethane (DDT) is an insecticide which can also be used to control mosquitoes.

TR BT IuThT HesRl & HMe o & fav far I awar 71 g ve wee wenfa @ S At & wmat w s ad 2l

AT T ITANT T W T e Refeh SR Sa¥ U T TR TBRY & Tt Y A & for oft fosar S wpelt 21

TeTgd A gRT IUANT T 57 & S Feat & die & TRem UeH o 8

Dichlorodiphenyltrichloroethane (DDT) U& Hleere & et 3uanT w=sdt ot Aafd s & faw ot fasar o wear 21

Q22. Cutaneous respiration takes place in

e o o gar ?
A.  Fish/ 7sel
B. Birds/ Taft
C. Man/agw

D. Earthworm/ &gt
Cutaneous respiration, or cutaneous gas exchange (sometimes called, skin breathing), is a form of respiration in which gas
exchange occurs across the skin or outer integument of an organism rather than gills or lungs.

T T, 1 i 1 Rt (G svit-ft = 4 38T ST R), 49T & U U & O et a1 et & sorra fandt St i e an
el 3eRur § Y /AT e 2

Epidermis
Epidermis ~,

(@)

Gas exchange may take place in a variety of ways. (a) Gases diffuse directly into single-celled
organisms. (b) Amphibians and many other animals respire across their skin. (c) Echinoderms have
protruding papulae, which provide an increased respiratory surface area. (d ) Inspects respire through
an extensive tracheal system. (e) The gills of fishes provide a very large respiratory surface area and
countercurrent exchange. (f) The alveoli in mammalian lungs provide a large respiratory surface area
but do not permit countercurrent exchange

Q23. Which of the following vitamin is related to Osteoporosis?
frafafed & § FF a1 fFerfim siReaiife @ wefda 22

A.  Vitamin B /fderfA &t

B.  Vitamin A /ferfdm ¢

C.  Vitamin C /fderfa= &t

D. Vitamin D /faerfee st

Vitamin-D which is a fat-soluble vitamin is closely related to Osteoporosis. Osteoporosis is a disease related to the bone, in
which bones lose their density due to which the bones weaken and become prone to breakage.

SHIPRA CHAUHAN/GENERAL SCIENCE — BIOLOGY MOST IMPORTANT QUESTIONS H



GENERAL SCIENCE - BIOLOGY - 200 QUESTIONS / SET -1

ferfi-3t St v qar § gamefia faerfim 2, siReaiarifaw & fisear & wefta §1 siRecioriw ag) & wefaa ve S 8, o sfgat s
T @ et 8 oY Bfgat SHeiR 8 STt & SR ge T R 8 ST 8

Q24. The commonly used Vitamin B Complex is constituted of how many vitamins ?

SITAAR W ST fhar SR areT f3erfe &t sicie o el A saraar &2

A. 8
B. 12
C. 10
D. 6

B vitamins are a class of water-soluble vitamins.

Vitamin B refers to several different types of vitamins that, together, are known as the B-complex vitamins.
The commonly used Vitamin B Complex is constituted of 8 vitamins.
Thiamin (vitamin B-1)

Riboflavin (vitamin B-2)

Niacin (vitamin B-3)

Pantothenic acid (vitamin B-5)

Vitamin B-6

Biotin (vitamin B-7)

Folate (vitamin B-9)

Vitamin B-12

&t ferfae o # gemefiia ferfom o we ot 21

TRt &t o STAT- 31T TR & et &) deftfa oxar 2, 9= e Oy fi-sieaay ey & 9§ ST ST 21
AR W gEATC f5aT S areT faerfae ot sircia 8 et & s gar 21
arafAe (RFerfae &t-1)

TgaTrAfa (ferfi dt-2)

e (Rerfam €-3)

Trafe vl (Rerfdm dt-5)

Rerfa -6

Trfes (e 1-7)

Hide (et d-9)

Refam 2

Q25. Which of the following is NOT a water borne disease?
fofofed & @ Fi-a1 et a7 22

A.  Typhoid /31 SR

B. Mumps /&UGSHTET T T
C.  Hepatitis /ddersfed

D. Cholera /&

Cholera is caused due to drinking or using water polluted by bacterium vibrio cholerae.

Typhoid is a bacterial infection that can lead to a high fever, diarrhea, and vomiting.

Mumps affects the parotid glands, salivary glands below and in front of the ears. The disease spreads through infected saliva.
Hepatitis is inflammation of the liver. Inflammation is swelling that happens when tissues of the body are injured or infected. It
can damage your liver.

BT ShaTy] fafga) SIeRT gRT vefd arh o a7 ST 9 & HRUT BT 81

TISHIFS U SHATU] HeprUT ¢ o) T §R, & 3R 3ot &) Tl 1

FUSHTAT F & 1 3k T Rifes 1fdaf, @R vfdat o mnfad St 81 78 A7 dofd R @ Shetar 21

eTefeT ahd H Goi &1 Foid Yol & S 9 €T & 5 IR & Idsh Irhel 1 ThAd €10 &1 T€ 3MTd ok Y JHEH UgaT ThelT 2

Q26. Hypokalemia is caused by the deficiency of

BTEOITRT bt HHY & HRUT EaT 87
A. lodine /3mEEN
B. Potassium /areferam
C. lIron /citer
D. Calcium /SfRmaa
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Low potassium, or potassium deficiency, is when your blood potassium level is below 3.5 mmol per liter. In the medical
community, it's known as hypokalemia (1, 2 ). Potassium is an essential mineral that has many roles in your body.

FH GRfITH, a1 MRy &t wifl, a9 gt & 99 S w6 # URfAuw o1 TR 3.5 e ufd ek @ R far #1| v wgem d,
BRI (1, 2) & T F JET AT 3| NRefATw ve savas w@hier & foadt smuds etk # o yfaerd €1

Q27. Flowers emit fragrance to:
B JIT IcAfotd
A.  Purify air /& gar
B.  drive away flies / wfeRadl & g wmmait
C. attract insects /ISl &T T B
D. perform all the above /3wt AT BT B

Flowers have unique smells because they attract different pollinators. For example, bees, moths and butterflies tend to be drawn
to sweet-smelling flowers, like roses, whereas insects like dung flies are attracted to flowers that smell like rotting meat.

et § Srdt e Eelt 2 aifS 3 s mmToret @ stefia wwa ¥ SaTevr & fov, wynfaaat, ue ofk fafaat e 6 dve Ho-Hes are wal
& 3R e gt €, Safd MR afRagl S 2 0 el G 3k Ariid §1a €, S Tea gu are & @e 1y ard) B

Q28. Which type of pollen grains are found in insect pollinated flowers?
Hie WG Feil F 5T USR & WATHT UTe 17 &2

Smooth and light /T 3R gt

Large and sticky /2T 3R frafar

Light and rough /gceT 3k Jgeazr

Heavy and coloured /48 3k @fi

onw>

The insect pollinated flower has pollen grains that are sticky, large and heavy, so that they can cling onto the insect’s body more
easily.

The pollen grains are also in small quantities, because it is very likely that insects will enter another flower, and the pollen grains
would have a higher chance of landing on the stigma.

As such, there is no need for production of pollen grain in large quantities.

e WAV 1ol oof F WRATHOT €1 & S e, 93 3k it €19 €, O 9 Fie & ik w arfde st & Rigs wod 81

AT ft S0 AT # B €, i ug 9ga TWieT € 5 HIR g ot H T 34, SR WUl & el W IEA 6 JUTEHT Mfdew g

S, TS 7T § WATHUIT & IeaTeT I BIS Ia™hdT T8T &l

Q29. In a practical laboratory, a student while observing the slide of tissue with the help of a microscope, found a bunch of
cylindrical shaped cells having interconnections belong to the category of:
e YTATe GaNTRITAT H, Teh B 3 HISHh DY i Had H Feidh I FATSS BT I DY §U, SeHIBR DR & DIADISAT HT Ueh T[T UTaT,
o o T g &

A.  Adipose tissue /adT dd

B. Heart muscle /geg & aigueft

C. Smooth muscle /Faa FEURMET

D. Skeletal muscle /deTe Bt HiFaef

Cardiac (heart) muscles are cylindrical and interconnected, smooth muscles are spindle in shape, where as skeletal muscles are
cylindrical with no branching

T2 (geT) & HrAAfIi SR 3R WER FET e €, e Araafnt mer 7 4t gt €, SEfe st o Hiaafat SaeR g § o e
SUCIE GG

Q30. Amoebic dysentery is caused by
srfifdes Afer & SRoT AT &
A.  Etamoeba Histolytica/ TerdisaT fgreifafesdt
B.  Salmonella typhi/ TeHHT T8t
C. E coli/ s
D. Streptococcus pyogenes/ IEIHIGH TSI
Amoebic dysentery is an intestinal infection caused by a protozoan parasite called Entamoeba histolytica. Infection by Entamoeba
histolytica may be asymptomatic. For patients who develop amoebic dysentery, symptoms include fever, chills, diarrhoea,

abdominal pain and passing stool with blood and/or mucus, etc.
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Irfifae ARIRT U 31t T THATT & ST TerisaT REEAfesT e Meisian Wefid! & SRuT 81T 2| TesmiaT R @fesT grT dwmor wei=gRa &
THaT &1 erfifas AT s o aTer AT & o, a0t # §aR, &3 @, <%, Ue # < 3R W 3R / T ST & Iy Tl AT 3Mfe i
2l

Q31. Plants which grow on saline soils are
@R gy o I are de

A.  Xorophytes/ SRIBIgeH

B. Hydrophytes/ gTggitrees

C. Halophytes/ gdIprses

D. Succulents/ FeAGA

The plants growing in saline soil are called as halophytes

waufiy Yffy # 319 aTe Uiyl F Ecireed FEr AT &

Q32. The Lichen grown out at the empty rocks is called

WA T W 31 g o 1 e i1 &
A. Corticoles/ miféarer
B. Saxicoles/ Iadicica
C. Sextiles/ AesT

D. Permalia/ qfear
The Latin word "sax" means rock. Therefore the lichens that grow on rocks are termed as saxicolous.

Afe areg "daT" &7 37 § IgM | TV TgMT R ITH T ATSH BT AFHIPIeAT P&l STl 8

Q33. With which one of the following Jacobsons organ is related to?

frafaf@d 7 @ f5a Sesaw i @ gdfaa 21

A.  Vision/fasm
B. Chewing/¥s™
C.  Smelling/qrifaa

D. Hearing/sigor
Jacobson's organ, also called vomeronasal organ, an organ of chemoreception that is part of the olfactory system of amphibians,
reptiles, and mammals, although it does not occur in all tetrapod groups.
Stopea BT 3T, T8 RT3 ofY T ST &, I A 67 U 37 St Iwar, w8yt aik weriat & wror yormedt @ R &, grerite
g I eeTute Tl F €T €T B

Q34. Azolla increases soil fertility for
TSAAT FAgY & IR Ferer &

A.  maize cultivation/maT & [t

B. wheat cultivation/Ng &t Wt

C. barley cultivation/sit &t et

D. rice cultivation/=Tae &t ddt
SOLl-
The nitrogen-fixing capability of Azolla has led to it being widely used as a biofertiliser for increasing the productivity of rice
fields. When rice paddies are flooded in the spring, they can be inoculated with Azolla, which then quickly multiplies to cover the
water, suppressing weeds.
ST Y AT TR &THAT & BRUT T & [l B IUTCHAT 961 S il 38 S IRD & T & o710 9 A IUANT fwar 1 36T €1 59 a8
g # Taet & Ot F T R 1T B, A IR T I ST AT ST 0T B, S 918 § IRUAIRY Y o §T U Y & & TAT Aol F o et
8l

Q35. Why is Carbon Monoxide a pollutant?

FIET AFISFIAES T TSNS a1 27
A.  Reacts with haemoglobin/gratfa & are ufafssar owar &
B. Makes nervous system inactive/dfa@T @ @ fafs a=r 3ar &
C. It reacts with Oxygen/ T Sfiaiier & Ay ufafdar aer &
D. Itinhibits glycolysis/Tg TATSHITS AT P AeT &

SOl-

Carbon monoxide (CO)—a colourless, odourless, tasteless, and toxic air pollutant—is produced in the incomplete combustion of
carbon-containing fuels, such as gasoline, natural gas, oil, coal, and wood.

CO affects human health by impairing the ability of the blood to bring O, to body tissues.
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When CO is inhaled, it rapidly crosses the alveolar epithelium to reach the blood, where it binds to haemoglobin to form
carboxyhemoglobin (COHb), a useful marker for predicting the health effects of CO.

Because CO has an affinity for haemoglobin more than 200 times greater than does O,, the presence of CO in the lung will
displace O, from the haemoglobin.

FTET HHSTTaATss (CO) - T TEH, g, WiedH iR fAuTh a1g Ues® - S1e Ioh $u, S 101l, Uidias 19, ad, ST ik awdt &
3T €8 H 3 g 81

CO, :RR & Fas! # O, A & foIw b DY el BT &7 dch AT TR ST T Heell B

g T3t 1 3icR fomT Srar ], @Y 78 76 9% Uge & AV ageiiy UG B doi A UR IRAT 8, STET T8 EHTAIST B Sraiaae me e
(¥efeadt) T & fow aterar 2, St wal & wawe yrdt $ widwmamf v & fae ve suant amds 2

FHifs CO, O, B gomT # Emnaiitad & faiw 200 AT 31t &, Bst # CO i IufAftt EiaiaT F O, & favenid &= it

Q36. Who is the father of Immunology?

SIS & Se B &7

A.  Louis Pasteur/ &g UTsR

B. Robert Koch/ &€ &

C. Landsteiner/ as& R

D. Edward Jenner/ Tgas SR
Sol-

Robert Koch:- He discovered the causative organisms of anthrax, septicaemia, tuberculosis and cholera.

He received the Nobel Prize for Physiology or Medicine in 1905 for his research on tuberculosis.

Louis Pasteur:- He is known as the father of bacteriology.

The process of pasteurization was invented by him.

Edward Jenner:- He is known for the discovery of vaccination for smallpox.

He is often called "the father of immunology".

Landsteiner: The Nobel Prize in Physiology or Medicine 1930 was awarded to Karl Landsteiner "for his discovery of human blood
groups.”

He is often recognized as the father of transfusion medicine.

RECEAEH

I e, Aftedifiar, aifes ok 39T & ke Sfiat & @ H

AURE W S My & fAw 3= 1905 # ST 77 ARRAT & fav M R e
?ﬁw:

I SRANGIATS & ST+ieb & TT F ST SI7aT 81

TTERTSSI DT UhaT HT SMAHR IS gRT fobaT 74T 2|

RECERCELS

3% TP & EF I Wiol F AT 17 SI1er 2

I IRR "SHAICATSH BT SIS HET ST B

HASER:

1930 B fOforaTetalt a7 AfRRAT & A9 RHR FTef ASTEIR HY "HHa I THET HF Wiar & forg” g mar o)
I SRR I RS & S & § & TgeHT STrar 1

Q37. Which cells in pancreases produce insulin?

Taferarst & & T FIASTY AT BT IedTed Tt &2

A.  Thymus/g37d

B. Estrogen/W&ISi

C.  Corpus epiddidymis/ ®1da wfusiisia
D. Islets of Langerhans/aTRés & 3TTseied

Sol-

The pancreas is a dual gland because it acts as both endocrine and exocrine glands.

The pancreas secretes both enzymes and hormones.

Insulin and glucagon are the hormones produced by the pancreas and these hormones control the sugar level in the blood.
Glycogen is the storage of food in animals.

Region of pancreas that produces hormones - Islets of Langerhans

The two types of cells in the Islets of Langerhans are & cells and f§ cells.

The hormone secreted by & cells - Glucagon

The hormone secreted by 5 cells - Insulin
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Insulin was extracted by Frederick Banting and Charles Best in 1921.

ST U et U & ifes we st ok sfamdt Nt ifdwt & v A Ff el &
FTT TSTEH 3R g ST &Y e o gl

i 3R Ta@m sy gRT A gl & ok T g b § v & TR Y fa awva
TATEHIST SIHaRt # HioH &7 HSRoT 31

ST BT &F ST g BT IS IRl & - geed 3P AReT

ARET & e # & YHR S HIIABTT FRASTE 3R SIASTE ghelt &

FIfABT gRT FTTAT FHM - THHIH

PRSI GRT T BT - T

1921 & treRe dfeT ik a1t v grY $gfo Fgta mar o

Q38. Which of the following is most important for growth of children upto the age of 14?

14 99 $t 317 75 S 7= F R F v FufefRe § 4 $7 vd 7reaq 82
A. Proteins /UicH

B. Vitamins /f@erfaa
C. Fats /qar
D. Milk /e

SOL-

protein are important for the growth of children upto the age of 14. This is because proteins helps to build, maintains and repair
body tissue during the growth process of the adolescents. Children need to eat two to three servings of protein-rich food each
day. Milk and other dairy products also are good protein sources for children.

14 98 6 3y 7 F =t F R & A N Teaqul #1 YT swfan 2 i WA Rt 6 gf ufar & S a9k & St & fmfor,
RERATE R FRA H Hag aell &1 g1 1 ufafe & & i FiT o gep WioH o a1iew| gy 3R oy 239 See ot a=af & foiw o i
G 8

Q39. Yawning occurs-

SeETs amelt 2-

due to excess concentration of CO2 in blood /3w # CO2 & 3fds AT & HRUT
due to excess concentration of CO2 in lungs /®wsl § CO2 &Y 31fd HIAT & HRUT
due to excess concentration of O2 in lungs /&ws! # 02 &1 Jfde HigdT & BRI
None of these /&8 & 1< &

onNnw>

Sol-

yawning occurs when one’s blood contains increased amounts of carbon dioxide and therefore becomes in need of the influx of
oxygen (or expulsion of carbon dioxide) that a yawn can provide. A yawn is a reflex of simultaneous inhalation of air and
stretching of the eardrums, followed by exhalation of breath. Pandiculation is the act of yawning and stretching simultaneously.
SETE A9 Bl & o1 foheft & &b # I STeariaTss & U7 96 ST @ 3R gafeiw 3@ TaRiio T &t 3de (I1 Sie SeaTiaTss &l fshraa) &
STTLTHAT BT & ST Ueb STETE UG &R TeheT | T TS eaTl & Tob |1 i o 3R gods & g &7 ue ufdad 8, forad a1e aid a1ee
Rt &1 TilRgaee U a1y SiTs o 3R Wi & fosar 21

Q40. Which of the following is the characteristic of a plant cell ?
Rufafed # 3 S @ ured SifeT Hf g g2

A.  Small nucleus /8¥eT Hga

B. Large golgi bodies /&3 Mt e

C. Small mitochondria /S'er HTgeI@mIf~gaT
D. Large vacuole /a3 RftvhaT

Sol-

Plant cells are Eukaryotic Cells, which means they have a membrane-bound nucleus and organelles.
It has a Large vacuole compared to other cells.

Unlike animal cells, plant cells have a cell wall surrounding the cell membrane.

Plant cells can be distinguished from most other cells by the presence of chloroplasts.

e HIfAHTE PebRaiies HIfAHIS gt 8, e aref € &5 37 ey veb foveett & <& gu 10 3k T8 8
ST PURABTN B GorelT & ST v w7t Rivppr At 21

T AT & AT, Tred HfAP13T § ST et & TR 3R @ BT AR gt 21

FARIARE $t Ul § Tt & S APTaf BT 3TfAewsier srg HfABTaA F SterT fosar ST Fepa 8

Q41. Ribozymes are Enzymes made of -

JEETSTeH T s USTSH B & -
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A.  Deoxyribonucleic Acid /f33iiaaRTsagfawe 3wt
B.  Hydrochloric Acid /gTgsiamiie ufis

C.  Amino Acid /ufeHT TS

D. Ribonucleic Acid /iEgaviie Tfis

SOL-

Ribonucleic Acid: Commonly Known as RNA.

It is an important biological macromolecule that is present in all biological cells.

It is principally involved in the synthesis of proteins, carrying the messenger instructions from DNA, which itself contains the
genetic instructions required for the development and maintenance of life.

The nucleic acid of RNA is ribose.

Nucleotides of RNA include adenine (A), guanine (G), cytosine (C), and Uracil (U).

RNA is typically single-stranded in form.

RNA molecules can function as ribozymes during translation (mRNA to protein).

EEYfaeE UAS: ATHAR W RTAT & G T ST ST &

TE Ue Aeaqul Sfas Aemiaayd & sif It Sfas Sifdemsit & dige g

TE T30 TT J WET & FHor & it g 2, Soae § Teeraes Rt o & sar €, S W@ shiaT & few ok Rewamd & faw smawgs

FrgafAes e g1

RNA &7 gfdwics 3ret I8aeT gldT &1

JTRTT & fFerdierssd o U3 (T), /@1 (), sy (&), ok faw (7) anfare &)
FRYAY MHAR W Uehel-thdl §9 & g1 1

STRTAT 310] 3ATE & SR ASHISTSH & ¥7 T H1 IR Tohd & (THIIREAT J W) |

Q42. Chambers in fish heart are -
o S gea T o e -
A.  Only one /&ad T
B. Only two /&dd &
C.  Only three /&ad i
D. Some have two while some have four /3=t & Ry <t & o Tt & UrT IR

All vertebrates have a muscular chambered heart.

Fishes have a two chambered heart with a single atrium and a ventricle.

In fishes, the heart pumps out deoxygenated blood which is oxygenated by the gills and supplied to the body parts from where
deoxygenated blood is returned to the heart (single circulation).

Tft STl BT gy Uiy walt arar gar 2

wefot # 3 walf are gau giar & fowr ue s1fdia ok v e g 2

wefodl #, geu STTadier 2 76 B U7 IR 8, ToF Towst grT siiaisiAd favar Siar & ik eRR & 3t &Y 3nyfe & St ], et F SrvadioT
e Th ey (Tehet TRE=ROT) H ot 31T ST 8

Q43. Which of the following diseases is diagnosed by "Vidal Test" ?
Frofafad & & fa I o fem s S grr fvar ST 82
A.  Typhoid /31 SR
B.  Chikengunya /Ri&=faar
C. Dengue /3t
D. Flu/%w]
Typhoid fever:
It can be diagnosed with the Vidal test.
Widal test is named after Georges-Fernand Widal (inventor).
The test detects agglutinating antibodies against the O and H antigens of Salmonella Typhi Bacteria.
TGS §UR:
gueT e faster adeor & far ST wedr 2
T & T 9 SHSa-T(s st (3NfaweRe) & 911 W a1 1T |
TR AT AT TS SN & 3 3R T TS & FRIATS WopdAfeT TESTE) T adT @mer 21

Q44. Saliva contains an enzyme that acts upon which of the following nutrients ?
R T e GoTTeH g & it Rafaiad 3 & e dives ded IR &l @ear 87

A.  Starches /e

B. Proteins /W&
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C. Fats /fqar

D. Minerals /@&f¥st gard
SOL-
Saliva contains the enzyme amylase, also called ptyalin, which is capable of breaking down starch into simpler sugars such as
maltose and dextrin that can be further broken down in the small intestine.
R T GSTgH THTSAST BT 2, TO ursforT ofY et SITeT 2, St Tl &Y ATeeior 3R SaafeT SR TRet T § diga & Tem & fO) Biet aria # aik
1fA ST oI W

Q4s. Deficiency of thiamine can cause which disease?

AT B Feft A B AT AT & T 22
A.  Beri-Beri /3%-3%
B. Dermatitis /sHersfeq
C. Pellagra /9@mm
D. Scurvy /¥bdl

Sol- Thiamin deficiency (causing beriberi) is most common among people subsisting on white rice or highly refined carbohydrates
in developing countries and among alcoholics.

Symptoms include diffuse polyneuropathy, high-output heart failure, and Wernicke-Korsakoff syndrome.

Tawraiier 2eit # ok eRIfegT & i Tihe T1ae a7 i TRshd FreTeede W IE I att # fFIaTfae 6 ot (3939 o7 FrRoT) Ta 3 2
AU B e DR, I=-3m3eye e H fAwadr ok affe-sraiers &g enfie &

Q46. How much iron is required in a normal pregnancy?
T Tfaer # SR &Y fat stavgdar g 87

A.  300mg
B. 800mg
C. 1000 mg
D. 1200 mg

SOLl-

The body iron requirement for an average pregnancy is approximately 1,000 mg. Hallberg (1988) calculated that 350 mg of iron is
lost to the fetus and the placenta and 250 mg is lost in blood at delivery . In addition, about 450 mg of iron is required for the
large increase in maternal red blood cell mass.

it mufaeyr & frT ¥R # SR 6 STaLgSdT AT 1,000 Aefiume €t &1 gieant (1988) ¥ urT &Y i 350 Aefumy 3maRT yor & @Y &ar ¢
3R wiier 3R 250 Ao vaa & T0g I B [ ST 81§89 STeTdT, HIg |1 I SHAST goad & 981 gig & faw @ 450 fefoms o &
ST gl 8

Q47. Who discovered Cholera germs?
Ao & PreTupait 1 i R 2
A.  Robert Koch RT&¢ &l
B. Rene Laennec A di&
C. Dreser /3R
D. Hansen /&R
Sol-
Robert Koch and His Germ Theory of Cholera.
In 1883, Robert Koch identified the vibrion for the second time, after Filippo Pacini’s discovery in 1854.
¢ P 7R &1 1 3T AT A
1883 #, (&< BT 7 1854 H il ufat & Wier & 91 TR IR SHUA & gg=a H

Q48. Ringwormisa ______ disease.
AETH ______ AR

A. Bacterial /Siatg]

B. Protozoan /i

C. Viral /fasT

D. Fungal /&a®
Ans -

Ringworm is a fungal infection of the skin.

The name "ringworm" is a misnomer since the infection is caused by a fungus, not a worm.
Ringworm infection can affect both humans and animals.

Ringworm is generally spread by the fungus genera Trichophyton, Microsporum & Epldermophyton.
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EIE T &I Ueh ThiTel HehAT 21

"FTE" AT e e A1 2 i WHHUT U Had S HRUT BT 8, HieT 78l

EI1E T HHHUT AT SR STHeRT ST &Y gHifad o Tepdr 21

2T 3TAAR TR Had ANRT CIhIBIEed, HISHIRARA 3R TeeHIBEe gRT theldl 2

Q49. What happens to a person who receives the wrong type of blood?
T YR ST Ih UG e dTel ofeh ST 4T ereT 872

A.  All the arteries constrict /Y emfaar fRige STt &
B. Al the arteries dilate /@t aufaat therdt &
C. The RBCs agglutinate /TR T &1 &
D. The spleen and lymphnodes deteriorate /faeeit 3ik forms =g famsa &
Donor Recipient
Group 0 can donate
© an‘fbié’l‘.’:?gﬁﬂi 0 00
universal donor.
ot s A . .8 A
to A's and AB's.
Group B can donate
metow B =08
s AB * AB

receive from all others.

Qs50. Sexual reproduction in Algae that takes place through fusion of two similar size gametes is called?
Aaret F A S S &) TH SATHR S TS & TeraT A €T €, SeeArar &2
A.  Zoospores /STRaRT

B. Anisogamous /3ifaET
C. Isogamous /3TgaNiHd
D. Oogamous /3THHE

SOLl-
Anisogamy, also known as heterogamy, is the form of sexual reproduction which involves the union or fusion of two gametes,

which differ in size and/or form.

fae, 58 AT & & & of ST ST 2, T T o7 9 ¢ fSuw & gras! &7 e a1 Joae enfire 81T 8, St seR 3k / ar s #
G BRSO

Qs1. Animals in which the cells are arranged in three embryonic layers are called
Sig Iod FfASIT i yoita wet & oraf@a gt €, St &
A.  Diploblastic /fSwilerrafees

B. Ectoderm /udeisy
C. Tripoblastic /FalsRes
D. Endoderm /qusisd

SOLl-

It is in the Triploblastic form of animals that the embryo is arranged in a three-layered structure.
These layers are ectoderm, mesoderm, and endoderm.

Most multicellular animals are triploblastic except sponges and coelenterates.

g IHERT & Reueiiscies $0 & & 5 your & f9-wd @ra=1 & sgaf@d fsar s &

T I vaeis, AHieH ok wEEH

W 3R Bgaie¥e B Blgaw FABIL TEHIABIT TR euailsctiiRes g €

Archenteron
Ectoderm
esoderm
Blastopore
Diploblastic Triploblastic
Gastrula Gastrula
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Q52. Asterias (Star fish), Echinus (Sea urchin), Antedon (Sea Lily) are all examples of which Phylum?
TRRTY (TR ), sfag (@ i), w@siv (@ o) T g weeaw & o €72

A.  Echinodermata /TdiHTsHATET
B. Annelida /wafasr

C. Platyhelminthes /9gaf®

D. Arthropoda /3myTarsT

Sol-

An echinoderm is any member of the phylum Echinodermata of marine animals.

The adults are recognizable by their radial symmetry, and include starfish, brittle stars, sea urchins, sand dollars, and sea
cucumbers, as well as the sea lilies or "stone lilies".

e SRS T STHERT & Brsad sRmsder 7 18 ot e 8

TIH! BT 37 ST THFTAT ERT UG ST ThaT 8, 3TR 3T TRIseT, YR AR, et arfe, Y sTer, 3k It Wi, amer & amyr Tt fael
7 "= foel" enfire €

Q53. The impression of an image persists on the retina for about of a second.

e BT S BIT @1 T A & forg 3T w = @t &

A. 1/10th
B. 1s8th
C. 116th
D. 1/5th

A.  Osmotic /3maHTeE

B. Eurythermal /gfteda
C.  Stenothermal /&-Tawe
D. Hydrothermal /Steardia

Sol-

A stenotherm is a species or living organism only capable of living or surviving within a narrow temperature range.
The opposite is a eurytherm, an organism that can function at a wide range of different body temperatures.

Trer Te votTar AT Shfaa Sfta € i Saet Te Hebtol aTaT AT & iR 8 ar Shfaa & & wem

3% Audd va goad &, T Sfig St iR & faffe argut i ve faRga SRae W orf o) T 2

Qss. Fungi are plants that lack.........:
FaF J 4 g § o ot Bt &

A.  Oxygen / JTeRflsr

B. Carbon dioxide / ST SIg3TdAES

C.  Chlorophyll / FRIfter

D. None of these / g49 & &I &l
Sol-
We know plants prepare their own food. With the help of photosynthesis they make food in which they produce glucose from
carbon dioxide and sunlight. Also, oxygen is released by plants which is further used by humans and other animals. But Fungi
lack chlorophyll and do not engage in photosynthesis.
B ST & T T 31O Wisi W 9T € Ut IRWT B TETgaT  F Mo s & fOd § e Sestiaanss stk g & U & st 3T
IUTE IR & | STS STTaT, S dret gRT TR f3ar STaT € S 3 vgsat 3R 37 STHaRt gRT SUanT f35am Sirar 81 e $ad & awRiftee
& Y el & afk gerer Afwor F Torm & @ ¥l

Qs6. Which of the following is an air-borne disease?

fFafafad & § $ w arg afa fad &2
A. Measles / @&
B.  Chickenpox/®Ict |rdT
C. Smallpox/=s
D. All the above / 8 & &t
Sol-

Airborne diseases are the infections spread by airborne transmissions including Chickenpox, Anthrax, Influenza, Measles,
Smallpox, Cryptococcosis and Tuberculosis.
RS T RHuTaT, T, SRS, W, 99, heiaiaay 3k aufes Ifkd WRE TIR0T gRT e aTd Jehau &
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Q57. Which organ of the body produces the fluid known as bile?
O & ¥ F ST ST A1 e Q1R & T ST T IedTeT el 87

Liver / a%d
Pancreas / 3@

Gall bladder / fo=mery
Kidney / et

onw>

Q 58. Proteins are consists of......:
TE........ B AT
A.  Sugars / R
B.  Amino acids / ST 3T
C.  Fatty acids / 391G 3T=T
D. Nucleic acids / gfdwe ufis
SOLl-
Proteins are made up of hundreds or thousands of smaller units called amino acids, which are attached to one another in long
chains. There are 20 different types of amino acids that can be combined to make a protein
AT A5t 71 &oRT B sHTedl A 9 €10 & O onfie vie et ST 8, Y it siRgemmait # v gk & 2 € El 20 SToHT- 31T YR & ST
s A0 & o AT W samar o HeeT &

Q 59. Hargobind Khorana's work relates to:

EfSE WRET T W S0 T&fad &:

Synthesis of simple DNA / TReT SITHT &1 HAWUT

Understanding the genetic code / Sfee HIs &I THSHT

Reduction of mutation / IeqfRad= & & AT

Synthesis of RNA from bacterial cell / SaciRae Yo & STRTAT HT THOT

onw>

Sol-
Har Gobind, biochemist who received the 1968 Nobel Prize in physiology or medicine for his work in deciphering the genetic code
and who was also the first scientist to create an artificial gene.

w e, Ja @maa, SR ngafis $s o grem & 31w &M & v kR e ar Rifeaar # 1968 &7 T18d R e f5ar 3ik St $hHw
S S a1 Tge darTte ot 9

Q 60. Which one of the following is not correctly matched?
Fafofed # 3 S a1 T8 S F 0et T @M 87

Haemoglobin: Skin / EHITefS: wrar

Vitamin C: Scurvy / faerfie #t: Tpdl
Carbohydrate: Potato / STelargse: 3],

Fat: Butter / g9T: AaRa-T

onw>

Qsé1. Which of the following have Alpha-keratin as protein?
Frafafed § & fFad e fida & su # srehr-dfed gar 87

A. Blood/*®
B. Eggs/3fs
C. Wool /34
D. None

Sol-

Alpha-keratin is a type of keratin found in vertebrates. This protein is the primary component in hairs, horns, mammalian claws,
nails and the epidermis layer of the skin.

Wool fiber is primarily composed of proteins called Alpha-keratins.

SIPHT-IRTICH, TP THR BT IRTIH & St HABTT & UTAT SI1aT &1 T8 WEN a1, i, T vy, ARgA 3R @ &t vfusfia wa & wrafds e
8l

T ISR T §T I STehI-IRTIeH ATHS W F &1 €T 2

Qs62. In B.C.G. Vaccine the word ‘C’ stands for:
IS At & WY e TefAT -
A. Calmatte /&orfie
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B. Cough /&%

C.  Chlorine /&A=

D. Cadmium / &sfow
Sol-
Bacillus Calmette-Guérin vaccine is a vaccine primarily used against tuberculosis. It is named after its inventors Albert Calmette
and Camille Guérin.
AT Feriie-TURT JT TR FU A TORE F RIATE STATH 5T T aTeT ST &1 STHT TTH 58D SMATHRS! 3Teae detde iR Hivelt TuRT
& AT R @R

Q63. Mumps is a viral disease that causes inflammation of-
g3 T fAwTopiad T 2 S s go & faw fomer €72
A.  Parotid Gland / 3ueuf %ifr
B.  Sublingual Gland / #ieret Ufr
C. Sub maxillary Gland / S¥d & & = UfY
D. Infra-orbital Gland / S&fra uf&r
Sol
Mumps is a viral disease also called epidemic parotitis. This is caused by the virus Rubulavirus and is characterized by

inflammation of parotid glands.

FHUSHTAT TS fauTo] st & O merant Riersfew o FaT S1ar &1 T8 TRy ITYAITIRY & SRUT €T & 3R Rifes wfamt 6 gorm & fadwar 2

Q64. Amniocentosis is a method used to determine the

WA v A § Saer 3o gg Rufia o & fae fsar s @
foetal sex /Yur & feiTT

kind of Amino acids /3T TUE & TSR

sequence of Amino acids in protein /@& # Y U &1 H
Type of hormones /g & TSR

onNnw>

Sol-

Amniocentesis is a method used in foetal sex. It is a Pre delivery test enabling us to knew birth defects such as Down Syndrome,
heterogenity of chromosomes and the sex of child.

TR YT & Aow & ST S 1 T ve Y ] 78 ve vad g ulteror & S el g g, qurRgsT & Rswar ok = & A SRy
S ST @Y S F e T 31

Qe65. White colour of milk is due to the presence of

U T wihe 7T fradt 3uf@fA & FRror T 87

A. lactose/aaerS
B. albumins /Tcgfa
C. carotenes/dRENT
D. caseins/&fAsT

Sol-
Many factors influence colour of milk including presence of milk protein casein.

U M SR H IufRf afdd & Fre gu & a1 ) gurfad wwa

Qé6. Some marine animals and insects emit light from their body in darkness. This phenomenon is known as
T TYE TR 3R HIF SR T S0 R T UHTY IS TR &1 T U1 BT & $T § ST ST §
A.  Phosphorescence /iR

B. Bioluminescence /SEI@MAAaAT
C. Both A and B /A 3R B @Ml
D. None of these /78 A HI$ T8l

Qe67. Pheromones are generally produced by

R T [pad grT Affa ga 872

A.  Snakes /&g
B.  Birds /afémt
C. Bats /awies
D. Insects /&S

Sol-
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Pheromones are substances which are secreted to the outside by an individual and received by a second individual of the same
species. Although it is secreted by a range of organisms, its effect is more prominent in insects.

TR & veref & St v s gRT 9TeR @ F1fa g & ik ST Teiia & @k s gRT W e o &1 7Y o o6 Shat grr grfad BT
AT gHHT UTg BT F 3 TRE el 2

Qe8. The plant dye Henna imparts orange-red colour to skin and hairs due to its reaction with which of the following?
T1ey 31 Hed! Rafafad # & fud arr ufafear & sror e ofk a1l & Tafi-ara &1 e st 82
A.  Proteins and amino acids /Sé 3R AT Tfs

B. Lipids /s
C. Carbohydrates /&TsTgrEse
D. Nucleic acids /=gfdwe Tfiis

Sol-

Henna (Lawsonia intermis) is a flowering plant. It is used to dye skin, hair, fingernails, leather and wood. Colouring feature of
henna is due to lawsone, an organic compound that shows affinity for proteins and amino acids in animals.

) (AT SRMOT) TS el qTeT T & STBT ITANT =T, I, TR, TS 3R et o I & A g s €1 de) & o7 fadwar
AT & SRUT BT 8, T SraHd Die ot SHa’t & Tie 3R sl vide & v sredigar gufar 81

Qe9. Silk fibres are secreted by

W & ¥ v gRT I1fad g1 €2
A. Larva /amaf
B. Pupa/4gur
C. Cocoon /&g
D. Adult silk moth /g% W™ Hic

Sol-
Silk fibres secreted by larvae from their silk glands which are modified salivary glands. This silk is used for making cocoon to

enclose pupa.
3 F QY At gRT AT Y Uit @ ifad €9 & S Tenfid @R it &) e ey aT SumhT Ut &Y 3R & AT S s & faw fsar s
2l

Q70. Sugarcane is one of the important cash crops in India. It is grown to obtain
TTET URA 6T HE@qU A5e] it § F U &1 50 Ui oA & e svmar Srar &

A.  Starch /=™

B. Glucose /&1

C. Fructose /gaerat

D. Sucrose /Jerat

Sol-
The sugarcane crop is one of the most important cash crops in India. Its stem has the highest sucrose content.

TR F BT YR $H Ta8 Heayul T6dt Bl § A T 81 590 a4 T Ghiol S 11T Jatfas gt 21

Q71. The term 'Probiotic’ is applied to
s’ T T T vy W T Srar 87

A.  Organic food /@Efe @Twr

B. Antacid /GeriE

C.  Antibiotic /TETaifes qarsit

D. Live microbial food supplement /@Tsd ATSHIfST HS TwHe

Sol-
The term 'Probiotic’ is applied to live microbial food supplements. These are the live micro-organism that provides health benefits

when consumed.

MarERes e &1 yET SHfad Arewiftge | RRe & A fvar smar €1 3 Shfad ger sfia € S a7 o R WReg @ Ued avd 2

Q72. Which one of the following microbes causes acidification and curding of milk?
Fafafdd & § S a1 A gy & oo 3R Z&t ST HROT ST 82

A.  Lactic Acid Bacillus /aifdee ufiis affas

B.  Clostridium botulinum /edIfsaw sigfet=m

C.  Vibrio cholerae /fafsat Hiert

D. None of these /&7 & F1§ &l
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Sol-

The lactic acid curdles the milk that then separates to form curds, which are used to produce cheese and whey. Acidification of
milk means lowering its pH.

It causes the milk proteins to unwind and unfold in a process known as protein denaturing. Lactic Acid does the process in case
of milk.

wifdee vflis g 31 &l §91dT B St iR 8 S & fAT S1eT 8 SiTar &, fortet Suaht uei ofk wigr a9 & fotw fosam Srem 21 g9 & sriaor &t
19 & Tt e F BT

g U WEH B WEH fagedianor & ¥ § S aTell uftsar & @ie 3R Udhe TR & SRUT 1T 3| g8 & A § wifdes v ufthar ot 21

Q73. Western blot is the diagnostic test for

R ste F o Yarfae aligor &
A.  Plague /@t
B. Leprosy /&% T
C. HIv
D. Typhoid /31 SR

SOL-

A Western blot test is typically used to confirm a positive HIV diagnosis. During the test, a small sample of blood is taken and it
is used to detect HIV antibodies, not the HIV virus itself.

T Uil geaT URETuT SMHAR R ASRIAS TEd! fHgH & gfte aa & faw 3wz fsar sirdr 1 uderr & R, 76 &1 U wier a1 F9ar faar
ST & 3R TUET ITENT THeTEdT UASTEr &7 UaT T & o AT e 8, 7 5 @ wwensdt army #

Q74. Which one of the following does not directly refer to cholesterol?
fFrofafed & § o @ Segia o defifa 78 sar &
A. Low density lipoprotein /fg a9 fadimid
B.  High density lipoprotein /3T G- @UIdIc
C. Rhesus factor /3w thaex
D. Packaged protein coat /3%sg WéH Hie
Sol-
Rh antigen is present in Rhesus monkeys. It is also observed on the surface of RBCs of majority (nearly 80%) of humans.
Such people are called Rh-positive (Rh+ve) and those in whom this antigen is missing are called Rh negative (Rh-ve)
A plasma lipoprotein is involved in the transport of lipids in the bloodstream.
QFE §e3t A Rh Ueioi HiS[e 81T €1 T8 ASIl & SgHd (GRTHIT 80%) & SRS &l Teg W ot & Sirar 1
Q& &A1 @Y Rh-4-Tee (Rh+ve) 8T SITdT & 3R 3 1 ufds argufad &1dr @ 3¢ Rh RulteAs (Rh-ve) &gl ST 81
TS ATHT frdié whuaTe § fafds & ulaes & anfae g 21

Q75. Which one of the following is the special type of milk produced by a lactating mother, essential for the development of
immune response of newborn baby in human?

Fufafdd & & F-91 7 AT THR $T gy & S WU IR aTet Af gRT St far ST &, SiY aa # Fasrrd fag] 6 ufarer ufafsar &
e & fow s 872

A.  Breast milk produced after a month of childbirth /&= & /1 & U& HEM 918 AT &7 gJ
B. Transitional milk /HHHUGTAN g8

C. Colostrum /@aiRed

D. Mineralized milk /Ra<Tge g

Sol-

Colostrum is the first form of milk produced by the mammary glands immediately following delivery of the newborn.
Colostrum is known to contain immune cells (as lymphocytes).

Faord fAY & T F qid 918 T UfATT gRT I g FT SleiRgd Ugell 9 2

Plcied § UfaRem Sy (femraTged & &0 #) gt €1

Q76. What is 'breakbone fever' most commonly known as -

'S B B H: 58 9 & SIHET ST & -

A.  Typhoid /31 SR

B. Rhinitis /RrsTsfed

C. Yellow fever /di@r §@R
D. Dengue /St

Sol-
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Dengue, also called breakbone fever or dandy fever, acute infectious mosquito-borne fever that is temporarily incapacitating but
rarely fatal. Besides fever, the disease is characterized by an extreme pain in and stiffness of the joints (hence the name
“breakbone fever”).

Fy, o &Y s OR 1 91T G@ER off 8T ST 8, e HepTHe AeeR S R S SRAT $U I 1em BT & AT 2mae € it e g 21
YRR & JAcTTET, 3 A7 S AATAT St & rcafde ¢ 3k Sipe # (SafeiT g8aT 7 S B’ B

Q77. The enzyme that converts glucose to ethyl alcohol is :

oISt @1 Ul JTedieeT § Sae aTell IR ¢ -

A. Invertase/gdcoT

B. Maltase/HTeest

C. Zymase/STgaat

D. Diastase/sTed

®  Usually, zymase enzymes help in the breakdown of complex sugar moieties in simpler alcohols with release of carbon

dioxide.

®  The diastase enzyme catalyzes the transformation of starch into maltose.

® Invertase enzyme causes the alteration of sucrose into simpler fructose and glucose molecules.

®  The maltase helps in the breakdown of maltose into glucose molecules.

®  This enzyme is mostly obtained from the plants, bacteria, and yeasts, and also in human beings as well as in
vertebrates.

® |tis very important to notice that each variety of enzymes have their significance in conversion of the complex
molecules into simpler molecules through the biochemical reactions.

®  The enzymes are much precise because each type of different enzymes has their specifically shaped active sites.

®  The shape of the active site of an enzyme is complementary to the shape of its definite substrate/s.

®  This causes perfection in their fitting with the specific moiety.

®  Zymase converts glucose into ethanol through the process of fermentation.

® [tis found naturally in the yeasts and its activity is highly dependent on the type of yeast strains.

®  IHAR W, TTEH CoTTeH HT STESATIITES S RETE & 1Y W STePlect H St DT 3ieif & ger & meg ova &l

* SR CIEH W & Hiees § uRadd Ft IR Far 21

®  TIAEST UIITSH P & TRl Paeior 3R Tasior Supait # uRad= & HROT e B

® TR Tofdhiol STULsit # Hiee ™ & ged § Hee T 8

®  Tg GSITEH SUTER Ui, SiRar ok die & ure gt &, Ty & wry oyt & qry-ary Saeteat F o

® U oI 4T 9gd He@yul & i S mmafie ufaftsareit & aram & Sifee st o Wt srupeit # geeie § Ud TR S ToeHT T
e 8l

*  USITEH 9gd UG B & FifS Ude UeR & fAfve tormet § 39 A ¥u § areR & Afdy W g

* TS TITEH & UihT W HT ISR 3TF NPT Tsec & MHR T R gam 2l

o g fafdie sier & Try 36T e & yofar &1 oror gar 1

®  Zymase fduad & uftsar & urend A To[@ier & $9TE § uRafda awar 21

o 7z i # Uipiae $U F urar Sirar # SR sudht nfaffd dive B $ UeR W st fnRk @d #

Q78. Halophytes are plants that can grow in soil having a high content of
e W I TS ARG A F A N g I &

Salt/erauor

Humus/grsa

water/STeT

All of the above/IwIh It

onNnw>

Sol-

A halophyte is a salt-tolerant plant that grows in soil or waters of high salinity, coming into contact with saline water through its
roots or by salt spray, such as in saline semi-deserts, mangrove swamps, marshes and sloughs and seashores.

BApISE Ue Fue-afysy ter & S fAgY a1 37 raurar ater urt # ST B, 30 oSt & wreny @ 47 Fue WY gRT @R U & Hud 7 S1ar §, S
& @rr X, §9a aeed, aded 3R ga 3k THg & R

Q79. Human beings have two ears because two ears help

SO & S B Ela & Tl 3 S # Hag axd &l
A.  tojudge the direction of sound/&f & faem &1 gar &=
B. to hear even a feeble sound/ &ftor &fF g
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C. to enjoy music better/dgaR Hifid &7 ATE A
D. to distinguish between two kinds of sounds arriving at the ears in opposite directions /fdard faemsii # =1 # ST arett
3l bR DT AT & i SR A B g

Sol-
We have two ears basically to widen the scope of hearing so that we can find out where sounds are coming from, and from what
distance; i.e., sound localization. The brain utilizes subtle differences in intensity, spectral, and timing cues to allow us to localize
sound sources
T & IR Y ST A & TAT gHR U Yot ¥U A S B €A & a1 &7 Tg U1 o TS 5 snarot wat & e € ok fpu @ @ o, ey
WgeRoT| 7RAss & @l Wl S Wiiagd s 6 srgafa &7 & v diadr, avfedia sk wmg & Tt & ger sia o7 Iuu oxar &

Q80. The two elements which are present in proteins but generally absent in carbohydrates are
QY Fed S T F HiSg €19 € At STHAR W weTeege § Sguidd g §

Carbon and Hydrogen /&Td+ 3iR gTggie

Carbon and Nitrogen /a&Td+ 3R g

Nitrogen and Sulphur /ATEEIeH 3R T

Sulphur and Hydrogen /aeaR 3iR grggia

onNnw>

Q81. Which one of the following is a plant hormone ?

Fofafad # 9 Fi9-1 ve urey g 87
A.  Oestrogen /WIS
B.  Cytokinin /&mseifdHa
C. Insulin /ggfa=
D. Thyroxin /arERifeaT
Sol-

Cytokinin is the plant hormone which has a major role in growth and development of the plants.

It helps in embryogenesis, cell division, chloroplast differentiation and many other important roles in plants.
AT TTeT g £ o deit B i ok R & v yftveT @t 2

TE YOI, FIABT AT, TRIRe Feura iR utel § &€ o= deayul YAersi # dee aar 2

Hormones Uses

Abscisic acid Closing of stomata; seed dormancy

Auxins Cell elongation and differentiation of shoots and roots

Cytdkinins Promote cell division, promotion of sprouting of lateral buds,
delaying the ageing in leaves, opening of stomata.

Ethylene Ripening of fruit .

Gibberellins Germination of seeds and sprouting of bud;; elongation of

stems; stimulation of flowering; development of fruit, breaking
the dormancy in seeds and buds.

w9 ¥ @
-m-m-

Phytohormones g
\

(Plant hormones)

L 0 @ @ @ 0 0
Cyokinns @) @ @ @ © o
Ejene @ ® @ @ @ o

AvscisicAdd @ o @ @ @ @
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Q82. The tissue which is responsible for movement in our body is
FAR AR # Y & e Iwerft Faw &

A.  Connective tissue /F2IST Sdd

B. Muscular tissue /91T Fdas

C.  Nervous tissue /dfA®T Fad

D. Epithelial tissue /39&dlT HddH
Sol-
Muscular tissue consists of elongated cells, also called muscle fibres. This tissue is responsible for movement in our body.
Muscles contain special proteins called contractile proteins, which contract and relax to cause movement.
YT Fas & 7wl PV et &, T wiwaef 7 off Fa1 17 21 78 FAw g9R RR A 1A & A0 IR g 21
TrgAfEt 7 Ay WdE 8 € o Rigst gan WA a1 51T &, S Rigs & s axa € S nfa @ 21

Animal Tissues

v ! ! v

Epithelial Tissue Connective Tissue Muscular Tissue Nervous Tissue
e Protection e Support e Movement e Conduction of
e Absorption e Binding of organs e Locomotion nerve impulses
e Secretion e Transport of ¢ Co-ordination
e sensory substances of body
e Immunity functions
o
° °
> °
° o
°
Connective tiesus Epithelial tissue Muscle tissue Nervous tissue

Q83. In a mammalian cell, the protein is synthesized by

TR FIAST F W BT IHT0T T &
A. Ribosome /rssiEH
B. Golgi /micolt
C. Lysosome /aTsarEH
D. Smooth endoplasmic reticulum/ et HierbiT g SArfetest

Sol-

The ribosome is universally responsible for synthesizing proteins by translating the genetic code transcribed in mRNA into an
amino acid sequence.

Ribosomes use cellular accessory proteins, soluble transfer RNAs, and metabolic energy to accomplish the initiation, elongation,
and termination of peptide synthesis.

ST THIRGAT # fAfAd s ois o ol v argee # srgare v WdH &t Aftd &1 & v ardiife su 8 fGWer 21
ST UeTes AT & e, FgTa 3R U B R IR F AT AgeR TeTasd WIeH, GoRilel TR0 3TRUAY 3R TaTa= Jolt &7 SuTnT
AL

RIBOSOME

>

Aminoacid — acid
chain (protein)
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Nucleus —___

Nucleolus —__ — Nucleopore

Rough ———7/7 Cytoplasm

Endoplasmic |

Reticulum Mitochondrion

Lysosomes,

e o,

Smooth ——
Endoplasmic

& oo
Reticulum

Golgi Body

Microtubule
Centrioles

Q84. Movement of materials to different parts of cytoplasm and nucleus is generally carried out by

PIADT go 3R Feaed & Tafer Wil # yaref &1 Heret AT fhad gry fovar sty 27

A. Ribosomes /Irg&EH

B. Mitochondria /ATgeIaif~gar

C. Lysosomes /aTsardH

D. Endoplasmic reticulum /3faded! Siferer

Sol-

The important function of the ER is to serve as channels for the transport of materials (especially proteins) between various
regions of the cytoplasm or between the cytoplasm and the nucleus.

The ER also functions as a cytoplasmic framework providing a surface for some of the biochemical activities of the cell.

$3R T HEaqUl S1 FTgewrsd & e &l & i a7 grscietor 3R ey & g It ([ $7 J Wd) & oRaeT & v 39at & ¥
# orf e Bl

SR FIAST B P& Sia AT MiAfAfAT & A v Fefe YaH @R are Ageranond e & &9 7 o e wxar 81

Q85. Which one of the following acids is pre dominantly found in tomatoes ?
Rufafad & & $7 a7 3t eaTer ¥ Tigg $T J U SI7ar 87

Acetic acid /fReT 37t

Tartaric acid /eReRe® 3wt

Oxalic acid /3fiaTieies v

Lactic acid /gremt

onNnw>

Q86. Which one of the following plant tissues has large air spaces?

FoltRa &3 o 0 & Sda A R Ig WHEA 87

A.  Sclerenchyma /¥RieTedT
B. Meristem /af@w
C. Collenchyma /&ie-aTgaT

D. Aerenchyma /Qx-hTgaT
Parenchyma cells carry out many function as forming chlorophyll containing cells, storage cells.
As per the function the shape, size of a parenchyma cell changes.
In aquatic plants, parenchyma cell possess large air filled cavities and air filled intercellular spaces.
These cells give buoyancy to plant to float in water. Such cells are then called as aerenchyma.
TPIEHT PUASTT FARIBA Teb DIfATaM, HSRUT HifeTait & Fafor & w0 § & rf et &
P F ITER NePTSHT HIAPT BT B, HR F&e ST 2
Sttt dtelt #, Teprear SIS # gar & 9 92 [ETt ik 7T F W SIRSIABT T B B
A HIAST N BT g T AR & TT Iecotrgendr 2t &1 U P QD131 BT I WBISHT DT ST 2l

wfaat dr e _____ JH I B
A.  Prawn /zfimm
B. Pila /fU@r
C.  Tuna/gdr
D. Oyster /&T
Sol-
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Pearls are actually formed as a result of the defensive mechanism followed by the oyster to protect itself from foreign irritants
that may injure its mantle tissue (a protective layer that covers the oyster's organs).

When a threatening irritant such as a parasite or a grain of sand gets stuck between the oyster's shell and mantle, the oysterin a
way to protect itself, quickly starts covering the irritant with the layers of a lustrous substance ‘nacre’ which is actually a mineral
composed of a mixture of aragonite and conchiolin.

This shiny substance coats the intruder and over the years forms a lustrous pearl out of it.

et arRea § e @7 & IRUTIRGET S 8, o are e e o1 fadeft srseet @ e & fAw g @ o 59 Hedt vy (e JRemeed W S
T & 377 P HaR IReT B) B OIS IR Tl 2

TE T WARATH o1 SIF RSTdT AT ¥ BT T GHT T & Wit R Hed & ST 67 S1aT &, 8 T Ge & 791 & A, Jedt F U I0der verd
' T RAT S TTY ST BT SHT YF IR AT & ST IAT | U & 3niiee 3R HimfAT & s & 597 @l |

g TUHAT TeTe gEf3T Y o el & 31k auf A 3T A T Iucher Wit ST 21

Q88. Wings of birds and bats are considered analogous structures because they have
uf@t ik TETTeEl & WRat &Y THH TREHT AT ST € Fifh 39 U &

common origin and common function /ATHTT Iaafe 3k ATATT H1f

different origin and common function /ff¥s ¥ 3k W= H1f

common origin and different function /AT Iedfy 3k fafdw Frf

different origin and different function /faffie ge 3k fafiw s

onNnw>

Sol-

The organs of different animals that have distinct structure but perform similar functions are called analogous organs.
Examples of such organs are the wings of the insect and the wings of the bird.

The structure of wings of the bird have bones enclosed by flesh, skin, and feathers.
Whereas the wings of an insect is an extension of the skin as a thin membrane.

But in both cases, the wings are used for flying.

These animals would have to adapt to the same ecological niche as other organisms.
fafor Sigait & § o fomdht Tvam et gieft 2 @f T o o €, orge T SiT FgetTa 2

W 377t & IareRvr Hie & v o ueh H B

Teft & Tt Y T F Wi, = o it &l wfgat @ #

STafds $ie & e TP e foret ¥ F =" o7 R 2

AT AT &) AT H GRal T STHTS 334 & AT fam Sirar 21

T IHRT & 3 Sfiat & Tu utiRfEfas 1= & srgghdt 84T 8l

Homologous organs Analogousorgans
Frog Lizard Hurman Brd Insect wing
f=) [“‘\
{ ) A" 4 \ 7
{ \ \ II‘ ~

Z
By
G

-
-
p-e

The organs of different animals that have an alike structure but differ in their functions are called homologous organs. The
structure of the two different animals mirror but the functions of their organs vary. Examples of such organs are the forelimbs of

frog, man, and the flippers of the whale.
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Taforer Sigait & & 3T fodT TReaT Tu B € A 37 SR STeTT- 31T B1d €, TSI 37T PactTa & | EF TeT-3TelTT STHERT i TReT guor ghet
? AT 37 3T & B S-S B F | UG ST & ISTER0T Hewh, AT 3R e & o] & sne £

Q89. Which one of the following is the major function of platelets?

Rufaf@d & § S Weded o wga 1 87
A.  Clotting of blood /g &T ITFHT STHAT
B. 02 transport /02 f@gd
C.  Immunity /T 9faege gmar
D. Phagocytosis /GrIEEEAH

Q90. Which one of the following organisms represents the primary consumer category in an ecosystem ?

Frafafed & & Fi ar Sie et urfids § urafire o Soft @1 wfaffaa s 22
a) Caterpillar /&R
b) Crabapple tree /&aue ¢

Frog /f@s

Sparrowhawk /&RgT&

Sol-

Crabapple tree is a Primary Producer.

Frogs are secondary consumers.

Sparrowhawk are secondary consumers too.

$IUA & U UTAfie ITes Bl

e fetae Iaviee 81§

TRIgTes fefias IuwiesT +ft §1

Soils / Decomposers

Q91. Which one of the following cell organelles does NOT possess nucleic acid?
e & & fod SRS & <fiee s T8 8T 22

a)  Nucleolus /gfdwaa

b)  Chloroplast /FRITRE

c) Ribosome RTgERAA

d) Plasma Membrane /wATGHT fateeil
Plasma membrane doesn't have any type of Nucleic Acid - either DNA or RNA. Plasma membrane consists of lipids, cholesterol,
phospholipid bilayer, glycol-lipids, etc.
AT fEreet & fadt oft vaR &1 faeiss wids 7E gar ® - a7 |t SeaT a1 sIRuAv | wieHT et @ fafds, Fiogia, Bianifais sEeR,
TAEPIA-Talus ofe B £

Plasma Membrane

_carbohydrate chain
outer membrane o

alpha helix protein

hydrophobic region

cholesterol

protein

inner membrane
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TR T IeTe H 8T 8

a) Corolla /@R¥aT

b) Style /®&rEd

Sol-

Anther

Filament
(stalk)

(a)

Stigma /Revar
Anther /TR

Pollen grains

(b)
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In angiosperms, pollen is produced by the anthers of the stamens in flowers. In gymnosperms, it is formed in the

microsporophylls of the microstrobili (male pollen cones). Pollen consists of one or more vegetative cells and a reproductive cell.
ST 8, Poil § GBI & WIS gRT WRIT ST Scdted fbar St €1 fSwiend &, o AaresReISel (R W1 Qi) & UredRuRIfthe & a4 1
AT H T T AP aeRuTae BB 3R TP Uola PHIAHT glal 2l

Q92. Which one of the following organisms is responsible for sleeping sickness ?
e & fard F fow Fofafad § & $h o e Omer 82
a) Leishmania /eferdfar

b)  Trypanosoma /fgd=mT
c) Ascaris /T&RT
d) Helicobacter /2fa@idaes
Sr. No. | Disease Causative organism Nature of Disease | Symptoms-Treatment
L. AIDS Retrovirus — HIV Viral Enlarged lymph nodes, long
fever, weight loss — Nil
2. Genital Herpes | Herpes simplex virus Viral Painful ulcer on genitals — Nil
3. Genital warts Human papilloma virus Viral Tumor of the vulva, vagina, anus
(HPVs) and penis — Nil
4. Gonorrhoea Neisseria gonorrheae Bacterial Infection of all genital organs or
PID — Penicillin
5. Chlamydiasis Chlamydia trachomatis Bacterial White patches on vagina or PID
— Nystatin
6. Syphilis Treponema pallidum Bacterial Cancer and skin eruption —
Benzene and Penicillin
7. Trichomoniasis | Trichomonas vaginalis Protozoan Greenish-yellow vaginal
discharge—Metronidazole.
8. Chancroid Haemophilus ducreyi . Foul discharge and ulcer, Drug :
Bacterial . .
Sulphonamide
9. Lymphogranul | Lymphogranuloma ) Inguinal lymphadenopathy,
oma venerum psittacosis bacteria Bacterial Drug : Tetracycline

Q93. Primary phloem develops from
TS TeeH S gar &
a) lateral meristem /ursf favsdias
) protoderm /uesH
c) extrastelar cambium /URCRER Hitaad

) provascular tissue /TRGTR Sdd

=)

(=X

Sol -

SHIPRA CHAUHAN/GENERAL SCIENCE — BIOLOGY MOST IMPORTANT QUESTIONS



GENERAL SCIENCE - BIOLOGY - 200 QUESTIONS / SET -1

Primary growth Secondary growth

Secondary P':ilmary Cork
phloem phicem

Vascular

Sclerenchyma cambitim

Phloem
Epidermis

Xylem Primary
xylem Cork

Secondary  cambium
xylem
Q B Primary growth in stems
M| P e A
”\\Q&L = Epidermis
/\ ' l g Cortex
Shoot tip (shoot’ || A s dges
apical meristem |.,,.,[\ Primary phloem
and young leaves) 'n,n Primary xylem
|n.. Pith
‘.l Lateral meristems:
e camb|ulm Secondary growth in stems
Cork cambium | .
| Periderm
Cork
- cambium
Cortex
Pith —— P ;lilmary
Primary - & phiocm
Root apical ‘ > xylem Secondary
meristems k | Secondary phloem
\5 xylem

Vascular cambium

Primary phloem is produced from the apical meristem, which is a primary meristematic tissue, whereas secondary phloem is
produced by vascular cambium, which is a secondary or lateral meristem. Phloem fibres or bast fibres are generally absent in
primary phloem but present in secondary phloem.

TAAS TATeH TideT AREEH O 309 €T 8, Sl e WAl favsailas Fde 8, S fgdias wilen dag- Sfagw grt Rfifa gar ¢, s v
feeias o1 uref fAvsHas &1 TITH BIER IT IR TSR 3MHAR IR WUHe e & Sigufdd g € e ararfie weiem # e g €l

Qo94. Which one of the following cell organelles mainly functions as storehouse of digestive enzymes?
Fufafld & 3 F-u1 SRS o ¥7 F s TogHl & WUER & 9§ o a1 87
a) Desmosome /3qHIEH
b) Ribosome RrEEET
Lysosome /dTsaEH
Vacuoles /grt
SOL-
Lysosomes mainly function as a storehouse of digestive enzymes. The lysosome contains a powerful hydrolytic enzyme that is
able to digest every organic substance.
ATSEH R FY A Ui CoTsHl & HUSR & &Y & &1 o &1 eigaras 3 ua fehenel) sgiaisies YoiigH €T € St &R didMe uard &r
T H He g 2|

Qg95. Which one of the following pairs of animals is warm-blooded?
Fofofaa & J Hi9-a1 Sigsit o SieT IW-37h ITaT 87
a) Crocodile and Ostrich /ATRA=s 3R Ryt

)

b)  Hagfish and Dogfish /gmfiser 37k stftser
c) Tortoise and Ostrich /&3t 3k Ryt
d) Peacock and Camel /7R 3iR Fe

Sol-
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Peacock and Camel come under the category of warm-blooded creatures.

TR 3R Fe ™ g arer Shat B Soft F s

Q96. Melanin is the natural pigment that gives colour to human skin, hair and the iris. It provides protection against
AR TP UTpias TNged & ST AT @, STeit 3R TRATRET FF 77 AT 21 T8 F RATS TRET U ol &

A.  Ultraviolet radiation /mRraTT fafdsor

B. Infrared radiation /3a¥h fafdwor

C.  X-ray radiation /ueg-X fafdwor

D. Short wave radio radiation /eg a%iT X34 fafdwor

Sol-

Melanin is a natural pigment which is produced from the oxidation of amino acid tyrosine and followed by polymerization.
In humans, melanin production is initiated on exposure to UV radiation.

Due to this, the skin gets darken.

Melanin can effectively absorb UV light and dissipate about 99.5% of it, thus giving protection against UV radiation.

TR TF Ui T1ged & St 3nfiHY s R & Siiadianur & 37 gaT & 3R 30& 91 leimRIgsie™ 8T 21

Tyt #, gt fAfERr & Tud # o W AART BT ITeT F BT 8

FER T BT U5 I 8l

AR gt THTer BT Turdt I F SN IR ST & 3R TS AT 99.5% BT T8 IR ST &, TH TSR Jat FAfawor & Grem ve et 2

Q97. Golden rice is a genetically-modified crop plant where the incorporated gene is meant for biosynthesis of
oS 5T T ATATAS T J TNAT et o1 ater & Srgt Ffia S &1 Sadduor & fav @ar @
A.  Omega-3 fatty acids /3T -3 Tt T

B. Vitamin A /fderfda ©
C. Vitamin B /fAerfd= &
D. Vitamin C /faerfam Y

Sol-

Golden rice is a genetically modified crop plant where the incorporated gene.

Golden rice is a variety of rice produced through genetic engineering to biosynthesize beta-carotene, a precursor of vitamin A, in
the edible parts of rice.

oS TgH U ATATAS U F TG et o1 aher € STat Rufad S gar 21

TesH 5T 19 & [Te Uit & Ser-3REH, ey v e ve speg smiidarss & & fav Jafes Shftafar & aram & Ianfea 9aa &f ve
e

Q98. The human body does not produce :

AT R Jedrer & el &
A. DNA /gww
B. Vitamins /faerf®=
C. Hormones /g™
D. Enzymes /g
Sol-

The organic compounds other than carbohydrates, proteins which maintain normal growth and nutrition in the human body (but

not produced in human body) are called vitamins.
FIETETESE, TIE & 3TTdT 3 SEe Tie ST AFg R B T gie 3R TIV0r §91¢ Rad & (Afd aa ¥k & Iaunfed 7€t gha) faerfam
FEA 8

Q99. In the process of Photosynthesis, how many molecules of A.T.P. are involved in the synthesis of each molecule of Glucose?

ST THTOT 6 ufehar & .. & fba 3] d €2 T & Ud 319] & TAWT B emfie &2

A. 36
B. 18
C. 20
D. 24

Sol-
In the process of Photosynthesis, 18 molecules of A.T.P are involved in the synthesis of each molecule of Glucose.

BT TRTOT 6 Tfehar &, T, F 18 310 TofdIo F TS 370] S TA0T F oA € &

Q100. A temporary endocrine gland in the human body is :
AT ¥R H T SRt sidamet Ui &
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Pineal gland /difATet ufd

Corpus cardiacum /&I4H SIfETEH
Corpus luteum /did - fius
Corpus allatum /&Tdw sreH

onw>

Sol-

The Corpus luteum is a temporary endocrine gland in the human body because it is only formed during pregnancy conditions in
the woman. It develops after the ovulation from a ruptured follicle during the luteal phase (a stage in the menstrual cycle) .
The luteal phase of the menstrual cycle is the time when the body prepares for the implantation of a fertilized egg.

The corpus luteum is formed in an ovary at the site of a follicle, or sac,

The corpus luteum continues to produce progesterone until the fetus is producing adequate levels to sustain the pregnancy.
The corpus luteum is maintained by the pregnancy hormone human chorionic gonadotropin or HCG.

e cgfem w9 v Sl sieTdt T & iifs wE daet HfRe ¥ mHiaer & AR & R e 1 IE egfee wur (Wit el 9w
# Us TUT) & R TS g8 §U U A N & a1g [assfaa g 21

1A e wh BT YTl TRUT T8 THY €T & 51d R Us AR 313 & amiuor & fav dor g 21

FIGY cgfeuw Ua Sisrma § Ue §u, o7 Yol & Wi W aar 8,

HIIT TYfeTT TR BT IeTe ST Rl & SIF a9 13 Yo TUfarem &Y §910 Raq & AT vaied TR &7 Ieane T8l o 6T 2

ST wgfeny mufaar g Aa SIRa RS MHTSIAA a1 Terish gRT §91T Rt ST &1

\ V4 f/\ Fallopian tube
\\\ { // /
Ovary
\ 1/ Uterus

Corpus luteum

Corpus luteum -
formation

SET -2
Q1. Which method of water purification does not kill microorganism:
St 2iverT 6t i Tt Rf gereha & 78 ardY :
A.  Boiling /38cmT
B. Filtration /foeeem
C. Chlorination /&RI<eRor
D. UV-radiation /4dr fafdwor
SOLl-
Filteration is a physical method that can only separate the pathogens and other contaminants from water but cannot kill
microorganism.
Boiling kills all the pathogens at boiling temperature.
Chlorine kills pathogens such as bacteria and viruses by breaking the chemical bonds in their molecules.
Distillation relies on evaporation to purify water. Contaminated water is heated to form steam. The boiling process kills
microorganisms such as bacteria and some viruses.

Toree e Ue Wi A & S Saet Ao 3Rk 3w g geraf o urt & 3ol ax Tapd! & fte geroiia & ¢l AR Tahd! 81

ITAA ATIHH IR T F Tt 0] R

FAI 37U 3Tupait # ITafAe St BT dlsaR Saciiar SR arRa I oS! Y AR 2

TG U B g A S AT arsfiawor w Rk axar &1 gfda o o ara g9 & faw m s AT @1 Saea S uftsar dRiRar ok g arra
SR gerehat @Y AR At B

Q2. Which of the following gas is not known as green house gas?
Frofafad 8 & s @ a1 f7 gea 9§ v § 78 S ol 82

A.  Methane /M99

B. Carbon dioxide /&Td SE3tiaaTss
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C. Nitrous Oxide /ATgcH JAaATSS

D. Hydrogen /gTggiaH
Sol -
A greenhouse gas (GHG or GhG) is a gas that absorbs and emits radiant energy within the thermal infrared range, causing the
greenhouse effect.
The primary greenhouse gases in Earth's atmosphere are water vapor (H ,0), carbon dioxide (CO ,), methane ( CH ,), nitrous
oxide ( N ,0), and ozone (O,).
Mersa M (Shuas ar Shuash) ve U T 2 St a6 SR 1 & fidR Isad Foll &) sraeifid 3k Iafeld et 8, oy Mvgsy uvE
BT g
et & argrise ¥ wrafie Mgy TR Stet ar (H ,0), s ssafaurss (CO L), a9 (CH L), Tged afaarss (N ,0), 3k aisie (0,) €1

Annual Greenhouse Gas Emissions by Sector

Industrial
processes

Electric power stations
25.6%

15.9%

y
Transportation fuels | .
13.2% | Waste disposal
) \‘ and treatment
3.6%

|

., Residential,

7.5% commercial, &
other sources

Land use and
biomass burning 12.1%

Fossil fuel retrieval,
processing, and
distribution

T 105%

625%
32%

-y

4.4%
4.7%

14.0% i 151%  6.1%
Carbon Dioxide Methane Nitrous Oxide
(72% of total) (20% of total) (5% of total)

Q3. Fatigue comes during training due to -
TfReror & <RI gt 5T HROT Y STt -
Lactic acid /greamt

Adrenal /sfagas

CO2

PH factor /divel R&

onNnw>

Sol-

Muscle fatigue is the decline in ability of muscles to generate force. It can be a result of vigorous exercise but abnormal fatigue
may be caused by barriers to or interference with the different stages of muscle contraction.

HiFATRNT &1 T AT T 21feh Ieoe a Y gar § fRTae &1 98 SRR STATH &7 URUTH &1 FhdT & T ST deT widferat &
g & faftrer ol # arenaft a7 ewad & HROT & T 2

//‘ K\'\,
//mu?ogﬂ-??E,a»Iacfale B S

N :
e —— 1 olcogen ! —

Q4. Filariasis is caused by

BIEARAT fad SRUTEAT

A. Bacteria /Sffargy

B.  Mosquito /A=er

C. Protozoa /diEIairaT
D. Virus /argzd
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Sol-

Lymphatic filariasis is transmitted by different types of mosquitoes for example by the Culex mosquito, widespread across urban
and semi-urban areas, Anopheles, mainly found in rural areas, and Aedes, mainly in endemic islands in the Pacific.

TP BrEARaT A UeR & A=sRt gRT thetd 8, ITERUT & AT Tyoiag TR, it Tl 3iR aref-2med) &t & omue 2, wifthelsT, RO §U d
ymeftor gt 7 araT STaT 7, 3R WS, TRer ¥ F wkiia o wnfae gt #|

| DlSEASEl

!
Communicable
' v ' ‘
Bacterial Viral Protozoal Helminthic  Chlamydial
Examples Examples Examples Examples Examples
*TB. * Mumps + Amoebiasis  *Ascariasis  * Trachoma
* Diphtheria * Measles *Malaria « Taeniasis
* Whooping cough  *Chicken-pox « Filariasis
* Typhoid * Small-pax
*Cholera * Rabies
» Tetanus * Hepatitis
» Gonorrhoca *AIDS
* Syphilis « Influenza
* Polio
T 1
Non-communicable Human geneilc disorder
|
I } [ 3
Diabetes * Cancers Incompatible Chromosomal
Cardiovascular Diseases blood groups } abnormalities
« Rheumatic heart discases Rh incompatibility Autosomal
+ Hypertensive diseases - ABO imcompatibility Sex chromosomal
*» Coronary heart discases Recessively inherited
disorder
Dominantly inherited
disorder
Qs. DNA replication in bacteria occurs:
i & Seay ufasia € &
A.  During S phase /T& =R0T & R
Within nucleolus /fdwaieas & iR

B.
C.  Prior to fission /fadss & Ugel
D. Just Before Transcription /giafser & Sl ugat
Sol -
In bacteria, DNA replication occurs before the onset of the process of fission.
The DNA in bacteria is replicated with the help of mesosomes that are the infoldings of the bacterial plasma membrane.
For propagation, the majority of bacteria depend on binary fission.
ST , Seu fiet e &1 wfbar B qpad & vea B
AT # Siemw &t A S Aeg F R J6T § 5 7 S wient e & s g #
TR & g, siflwter aiivar ars s w i o #

Qeé A baby boy aged two years is admitted to play school and passes through a dental check - up. The dentist observed that the

boy had twenty teeth. Which teeth were absent?
A H I F T I= B & Tl § el 1T 11T & 3R & RS S & oRar 21 < Rfcis 3 a1 &5 @isd S g oid FI s daia

Ui 47
A. Incisors /@=i®
B. Canines /&-Ted
C. Pre-molars /f-Alad
D. Molars /At
Sol-

The premolars, also called premolar teeth, or bicuspids, are transitional teeth located between the canine and molar teeth. In
humans, there are two premolars per quadrant in the permanent set of teeth, making eight premolars total in the mouth.

fiier, ford fieter gt off et ST 2, a1 reefifys, Srs oik ier afdl & 9 fROd deauieTela afd g1 €1 vyt #, gfdl & wmft Je F ufa
Tqufer & @ PR €9 €, e g § ot 3116 NMw €19 &
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Upper Teeth Erupt
Central incisor 7-8 yrs.
Lateral incisor 8-9yrs.
Canine (cuspid) 11-12 yrs.
First premolar (first bicuspid) 10-11 yrs
Second premolar (second bicuspid)10-12 yrs
First molar 6-7 yrs.
Second molar 12-13 yrs.
Third molar (wisdom tooth) 17-21 yrs.
Lower Teeth Erupt
Third molar (wisdom tooth) 17-21 yrs.
Second molar 11-13 yrs,
First molar 6-7 yrs.

Second premolar (second bicuspid)11-12 yrs

% First premolar (first bicuspid) 10-12 yrs.
\ Canine (cuspid) 9-10 yrs.
Lateral incisor 7-8 yrs.

Central incisor 6-7 yrs.

Q7. Fruit and leaf drop at early stages can be prevented by the application of :
IR sraeem # Bt 3R Tl iy & Frafafad & v & T S e &:

A.  Cytokinins /aTgcIprsia=a

B. Ethylene /&ffeia

C. Auxins /3Tifaa—g

D. Gibberellic acid /e s

Sol-

Auxins were first isolated from human urine. It is produced by growing tips of root and stem.

It helps in cell division and differentiation. It prevents fruit and leaf drop at early stages. It promotes the abscission of older
mature leaves and fruits.

ST BT Ug A T I ST 3 ey o7| g 515 3R a9 & et gieat grr fAffa g 2

TE FIAST favrerT ik fade & Aag owar 21 78 URfME srave § et ok oot 1 iR & Apar B1 w8 | ufvuas it ofk wal & e o
QT & 81

auxin
molecules

.J'J_'I_JJ_;;,;“_

Q8. In Bougainvillea thorns are the modifications of :

Frfaferar & Sict o deyT &
A. Stipules /®&TEHr
B. Adventitious root /&feud 318
C. Stem /aar
D. Leaf /=T
Sol-
Thorns are the modification of axillary buds of stems.
Hie a1 Y sreh wfot o Fevus

Q9. In an undamaged blood vessel, conversion of Prothrombin to Thrombin is prevented by
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TS &IfQRa Th arfget &, TieifisT & iifisT & sao ¥ AT SIrar @
Fibrinogen /wrsfsiormT

Calcium (Ca) /&fRmag

Factor VI /&R VI

Heparin /gaR=

onNnw>

Sol-

Heparin is an anticoagulant (blood thinner) that prevents the formation of blood clots.

Heparin is used to treat and prevent blood clots caused by certain medical conditions or medical procedures.

It is also used before surgery to reduce the risk of blood clots.

BN T ATHRIL (T BT IAAT B aTcT) & ST T P UGy B & F AepelT 81

BN &7 ITEnT F5 Rfeata RAfet ar Rifder afkarstt & SR 8 o 706 & yas! $ ITAR SR Aeam & fow T Sar 8
THPT ITENT ol T UG TWh & YGD! & S B 7 S & forw off far Srar 81

Q10. In humans trisomy of chromosome number 21 is responsible for
TS F URE TRAT 21 T g HiH fhgas forg foeer &

A.  Haemophilia /érdiferar

B. Klinefelter Syndrome /awTgthee figH

C. Down Syndrome /33 g™

D. Turner Syndrome /=R figw
Sol-Down syndrome or Down's syndrome, also known as trisomy 21, is a genetic disorder caused by the presence of all or part of
a third copy of chromosome 21.
It is usually associated with physical growth delays, mild to moderate intellectual disability, and characteristic facial features.
313 AW o7 3137 g, S ereateY 21 & 0 7 oft ST 71T €, U Sgafiss fAeR & S dw 21 & 8 ufa & wft a1 o5 Rt &
IufAf F FRT Ear 2
g AR W MRS faerr # 29, s & o ifge stema, ok fafire Ik & Rdwdrs & Ferar 81

Growth failure Broad flat face
JSlanting eyes
- 1 Epicanthic eyefold
'Short nose

Flat back of head ——

Abnormal ears —— Short and

/ %
{ (X8
e 74 ‘f-\/éf broad hands

- ‘\’ 'Small and
AL, arched palate
P \ /" <{Big, wrinkled
Special skin b = \ tongue
ridge patterns [ - Dental anomalies
Unilateral or bilateral { /,</\ ¢
absence of one rib > G =
Intestinal blockage ./ \
s |
Umbilical hernia” ‘ )

Abnormal pelvis 4 X

Many "loops" ~~ ;‘(7 S
on finger tips //\ ) m

Paim crease -~/

* Congenital heart
disease

A Enlarged colon

, Big toes widely

. \ y
Diminished muscle tone /" spaced

Q11. The RBC deficiency is deficiency disease of:
RBC 1 &l & g arerr AT 8 :
A.  Vitamin B12 /faerfoe &t 12
B.  Vitamin Be /facifA dte
C.  Vitamin B1 /fderfa= &l
D. Vitamin B2 /fderfam €2
Sol-
Vitamin B-12 deficiency anemia is a condition in which your body doesn't have enough healthy red blood cells because of a lack of
vitamin B-12. This vitamin is needed to make red blood cells.
Rerfm #-12 F e A @9 a1 ThitaT we T R & o R d-12 & o & sror emuds ik F vafe @y | w6 SR T @
B T T DIABIST BT & B foie 5 ferfim 6t srazasar gt 81

Q12. Purines found both in DNA and RNA are
ST 3R SRV ST H UTe ST AT odi &
A.  Adenine and thymine /{3 3R arefa
B. Adenine and guanine /T3 3k Tarfae
C. Guanine and cytosine /T3 3R ATgeIRAT
D. Cytosine and thymine /arselfd ik ursfam
Purine is a heterocyclic aromatic organic compound that consists of two rings in their structure. It is a nine membered double ring
with four nitrogen atoms at 1, 4, 3, 7 and 9 positions. There are two main types of purine known as Adenine and Guanine. Both of

these purines occur in both DNA and RNA.
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TR U favaadi grifdd s aifie § foad 396 TRemr # €) vow 818 €1 78 U@ At Teafiy sad 9oy § fOud IR Arseie WATY 1, 4, 3,
7aﬁwua’fmﬁaww$qﬂq@ﬁ%ﬁ%@ﬁqﬁ?§m$mﬁmw%|ﬁaﬁqﬁqﬁwaﬁzmaﬁﬁwaﬁil

woscass DNA st. RNA ==

DEOXYRIBONVCLEIC ACID RIBONVCLEIC ACID

DOUBLE-STRANDED USUALLY SINGLE-STRANDED

|
|
|
SUGAR* PHOSPHATE ! SUGAR* PHOSPHATE
X DEOXYRIBOSE ! * RIBoSE
Q Q
cHa I cHy
: —
H H BASE PAR | H H
OM H | SINGLE OH OH

{ NUCLEOBASE
|

o o
Hsc\{K L\ NUCL\EOBASES PN
NH NH
| NH H,N
Ao z 2V . LA
H \N N
THYMINE | A < \
N7 "0 N
H H

L
NH N SN H
N/>~NH1 (Nf;/) URACIL
H
ADENINE

CYTOSINE GUANINE

Q13. Thiobacillus is a group of bacteria helpful in carrying out
R deRar o1 Ue TqE € S SR o S & GETs €T ?

A.  Nitrogen fixation /ATgcre fAga

B. Chemoautotrophic fixation /&HI3eIgi e iz
C. Nitrification /Arsfeftsaer

D. Denitrification /3MTgEIaRuT

Sol-

Thiobacillus denitrificans is chemoautotrophic bacteria that denitrify nitrate during oxidation of compounds.

Thiobacillus denitrificans is a chemolithoautotrophic, facultative anaerobe bacterium.

Likewise, it has been utilized in designed water treatment frameworks for nitrate evacuation.

Its capacity to do nitrate-subordinate Fe(ll) oxidation under anaerobic conditions could impact metal and radionuclide transport in
the subsurface, as ferric iron-containing minerals that might be shaped, particularly iron(lll) oxides, are notable for their capacity
to adsorb hefty metals and radionuclides, for example, uranium.

rafae Shfefrda Srtacieithe dadifar @ S 2ifiiel & sifadiaRor & R Tsde & fagd ot 2

rafaew Shfefrda v Srifaiemeieifine, tRee samd arg 21

3 g, TTeee Norht & fav BT fvw v S STarR e & sueT SuanT far mar 2

Jardiy uRfRfaEt # ede-srefi-Ry Fe (1) SifafiaRur ax= & gUd! &dT SuTdE # &g 3R YREgawes uRae o gwifad o= It ¢,

T e SR Ieh WAST ST STHR & &) Iod 8, AT §7 & 3R (111) 3iiaass, TRa &Y 376! et & fa Ieera-1g &1 urT arg 3k
AfSUTgargs, Iareun & foig, HTH|

Q14. The gas which emits from rice field is
T F [ F e aret T 2

A. ethane /£99

B. methane /f39

C.  nitrogen /ATSEISH

D. Al of the above /W & Tt
Sol-
Methane (CH,) and nitrous oxide (N,O) are the most important greenhouse gases due to their radiative effects as well as global
warming potentials (GWPs).
CH, and N,O gases are simultaneously emitted from rice fields to the atmosphere due to their favorable production,
consumption, and transport systems.
AT (CH,) 3R rsea afaurgs (N,0) 3raw AT ywTg & TTy-a1y Tellget amfiiT &dT (GWPs) & SRUT e Heeaqul H-ersd (- &
CH, 3R N,O & sraet & Rt ¥ 37 3JGeT SeTe, Wud 3R TRae yonforat & SRoT ardraRor & Us a1 Iafofd giet 2

Q15. Which vitamin is only found in animal products?
B AT AT Facr gy Iearel § urar Srar &

A.  Vitamin A /feiffg @

B.  Vitamin B3 /faeifA €13

C.  Vitamin B12 /faerfa &t 12

D. Vitamin C /fderfa=
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Sol - Vitamin B12. Vitamin B12 is an essential nutrient that's almost exclusively found in animal-sourced foods, such as fish, meat,
dairy products, and eggs.

Also known as cobalamin, it's a water-soluble nutrient involved in developing red blood cells and maintaining nerves and normal
brain function.

fRerfda &t 121 e &t 12 Us snawws Wive da & St oy QY §0 & Ugl-3id aTe) aTer veret & urar ST 8, S medt, 7, 38 3are ok
38|

FHaTior & 7 8 oY ST S1aT 8, 78 Ue U # geaaiier Tive dd & S @t 5 Siersi & e ok diEwreit stk amrr ulkass R o
T T F A B

Vitamins
|

'

Water soluble vitamins
I
' '
B-complex
[includes 9 vitamins)

Non B-complex

Vitamun C

'

Fat soluble vitamuns

— Vitamin A (Retmnol,

retinal and retmoic acid)

— Thiamine (Vit. B,)

— Riboflavin (Vit. B,)

— Niacin (Vit. B,)

— Biotn (Vit. B,)

— Pantothenic acid (Vit. B,)

=+ Lipoic acid

(L-ascorbic acid) '
= Vitamin D (Cholecalciferol
' . ' o ‘ and ergocalciferol)
Energy releasing Hemopoietic  Other
vitamins vitamins ~ Pyndoxine |y Vieanin F (Tocopherols)
(Vitamin By)

= Vitamin K (Phylloquinones

Folic acid (Vit. By) and menaquinones)

Cobalamn (Vit. B,,)

Classification of vitamins

S.No.| Vitamin Deficiency diseases
1) .| Thiamine (B)) Beriberi
2) Riboflavin (B,) Glossitis
3) | Niacin (B,) Pellagra
4) | Pyridoxine (B) Anaemia
5) | Cyanocobalamine (B,,) Pernicious anaemia
6) | Folic acid (B,) Anaemia
) Pantothenic acid Burning feet
8) Biotin Nerves disorders
9) | Ascorbic acid (Vitamin C) Scurvy

10)

Retinol (Vit. A)

Eye and Skin diseases — Night blindness,
Xerophthalmia, Rupture of cornea, Scale
formation on skin

11)

Calciferol (Vit. D)

Rickets, fragile bones

12)

‘Tocoferol (Vit. E)

Fertility disorders - Sterility in males,
Abortions in females

13)

Phylloquinone (Vit. K)

Blood clotting

Que. Cholesterol does not act as the precursor for
Plorelel g & & § B TET ol &

A.  Steroid hormones/¥RTas M

B. Bile acid /fOT 31T
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C.  Vitamin D /fdetfa= €Y

D. Insulin /ggfe=
Sol-
Cholesterol is any of a class of certain organic molecules.
A cholesterol is a sterol (or modified steroid),a type of lipid.
Cholesterol is biosynthesized by all animal cells and is an essential structural component of animal cell membranes. When
chemically isolated, it is a yellowish crystalline solid.
Cholesterol also serves as a precursor for the biosynthesis of steroid hormones, bile acid and vitamin D.
Within cells, cholesterol is also a precursor molecule for several biochemical pathways. For example, it is the precursor molecule
for the synthesis of vitamin D in the calcium metabolism and all steroid hormones, including the adrenal gland hormones cortisol
and aldosterone, as well as the sex hormones progesterone, estrogens, and testosterone, and their derivatives.
PRI B BIEIeD UL BT T aif B
Pl T TR (T TNFAT TR1TS), T TR o7 faflis &1
Prerere @t 7] FIfSTei gRT A Afid ar € 3k Iy SRS Rieeht o7 U SMTadd WA Ued gl oid I8aRe §0 & gus s smar g,
78 ve et 1 1 ety S gar 21
Floglat WIS g, O vflis oit fRerfia € & Sausvor & swgd & w0 # off orf o 2
FIfwTert & MR, Prorela i 7 S g it & fAv u swed 31] 3| IaTevr & fA, 78 SRy wamuey § e € & gquor aik
Frftigas Ui g HIfEAE 3R oS Tfed Tl RR1TS BTHH & T1T-T17 AT &0 WO, T 3R SR ik 376 fafea &

o smree ey 81

Q17. Which of the following structures is known to maintain the shape of a cell?

FrofafRd & I ol A TR SIAST & SER B ST R & faw I o 872

A. Ribosomes /IrgEH

B. Microtubules /ggaafaame
C. Nucleus /A&

D. Mitochondria /ATgeI@if~gaT

Sol-

Microtubules are polymers of tubulin that form part of the cytoskeleton and provide structure and shape to eukaryotic cells.
Microtubules can grow as long as 50 micrometres and are highly dynamic. The outer diameter of a microtubule is between 23 and
27 nm

They are formed by the polymerization of a dimer of two globular proteins, alpha and beta tubulin into protofilaments that can
then associate laterally to form a hollow tube, the microtubule.

Microtubules are very important in a number of cellular processes. They are involved in maintaining the structure of the cell and,
together with microfilaments and intermediate filaments, they form the cytoskeleton. They also make up the internal structure of
cilia and flagella.

The ribosome is a complex molecule made of ribosomal RNA molecules and proteins that form a factory for protein synthesis in
cells. The ribosome is responsible for translating encoded messages from messenger RNA molecules to synthesize proteins from
amino acids.

A nucleus is a membrane-bound organelle that contains the cell's chromosomes. Pores in the nuclear membrane allow for the
passage of molecules in and out of the nucleus.

Tubulin dimer E'f\‘\‘,‘é'.?,?{e

a-Tubulin Anatomy
- of the
Nucleus

Endoplasmic —g=
Reticulum g

Figure 1

Cross section MicrOtUbUle

Ribosomes

Mitochondria are membrane-bound cell organelles (mitochondrion, singular) that generate most of the chemical energy needed
to power the cell's biochemical reactions. Chemical energy produced by the mitochondria is stored in a small molecule called
adenosine triphosphate (ATP).

FerAfAHY SRR & Igere g & S AgeRboied o Rear s € 3k gl SIf s &) T 3k ameR ueH ovd &
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LRSIV 50 AIEHIHIR I ¢ Tad! & 3R it nfaiic it & gerfaieT o a1ed ooy 23 3R 27 viey . S AT Eear &

QY MATHR WEH, T 3R et eggfa & ve R & Melfthemiey # tiefmIgale™ gRT &9d § St a1 & Ue WRacl! ogd, YeufasT s°m &
v 35 v &

FE PIAST TipaTait # et 9gd Ayl Bt &1 3 ST ot TIAT B I a3 7 MiAe g & 3R Arssiftsamicy 3k megadt
fOhetTiicH & AT FAIcTaR AT baied s1d &1 3 RAfeaT 3k weiiterr & ariafe dem oft a1

ST IS STRTAT 373t 3R TN J 97 U Sifeet 31 & S Siferait # Wi TYu0r & fHT U SRRa1 §7eT 81 T8989 AR
JTRTAT SUL3Tt T TH1es TRt o 3fiAY Uds & Wid & IHf¥d o=a & faw srgae &7 & faw SR 21

e 1A T Rieei-ame 3T € orad i e & JuRe gla &1 waTy] fBieeh) o g A1fis & siex 3k arer arupeit & ol €19 &t argafa 23

HIEADI-3aT Reeil-aTeT HIfADT 3T (HIESIDIRgT, Tha) & Sit BT H Ja IaraRe ufafars @1 e1fth 23 & AT sravae rfdeier
TS FoIf IeTH IR & | ATSIDI =507 ERT ST AT FofT TSI SIEhidhe (V) TS U BIe 310] # TufRd gt 21

Q18. Human genome contains about

HTE SR & T e &

2 billion base pairs /3Rd JATUR SIS
3 billion base pairs /3RS JTYR T3
4 billion base pairs /3R JMYR 1S
5 billion base pairs /3Rq 3TYR SIS

onNnw>

Sol-

A genome is an organism's complete set of deoxyribonucleic acid (DNA), a chemical compound that contains the genetic
instructions needed to develop and direct the activities of every organism.

DNA molecules are made of two twisting, paired strands.

Each strand is made of four chemical units, called nucleotide bases.

The bases are adenine (A), thymine (T), guanine (G) and cytosine (C).

Bases on opposite strands pair specifically; an A always pairs with a T, and a C always with a G.

The human genome contains approximately 3 billion of these base pairs, which reside in the 23 pairs of chromosomes within the
nucleus of all our cells.

Each chromosome contains hundreds to thousands of genes, which carry the instructions for making proteins.

Each of the estimated 30,000 genes in the human genome makes an average of three proteins.

T S T St 1 SeraiRmsagfaee RS (o) S @A §, T e difie o udie sita & nfafafedt e e s ek
T I & AT sravas srgaifds Ry €

BT 310] € gHTaeR, gftad fret O 9 8 &

TS We IR IS sHeal & o1 € 8, fOE gfawdierss 39 Fer e 21

MR TR (Q), arsfae (&), @i (h) ek aredfe @) €

R feed W R AT 7 d SNL; T gdem & & ary sitsar 8, 3k ot gl oft & are)

Aa S 5 & @ 3 fAfer emar S € €, S gt e Sifdierait & Sge & ier quRgt F 23 S # wEd 2

TS oA B AFEl &R oI €1 &, S WéH s & fAder aa &)

e S B gt 30,000 ST & U st o W ST

Qu19. Creutzfeldt - Jakob disease (CID) is caused by
PUchege - Spe AT (CID) T SRUT greT &
A.  DNA viruses /SIUAU arRd
B. Bacteria /Sfary]
C.  Prions / 9o
D. RNA Viruses /3RUAV aiRA
Sol-
CJD is caused by the build up of abnormal prion proteins in the brain.
For most patients, the reason for the abnormal prions is unknown (sporadic CJD).
Creutzfeldt-Jakob (KROITS-felt YAH-kobe) disease (CJD) is a degenerative brain disorder that leads to dementia and, ultimately,
death.
Creutzfeldt-Jakob disease symptoms can be similar to those of other dementia-like brain disorders, such as Alzheimer's disease.
But Creutzfeldt-Jakob disease usually progresses much more rapidly.
ot Altass & sramr=r g i & fmfor & Fror g 2
afdeier AT & o, sramaTg frT &1 SR 3reTd ¢ (Bege W)
Creutzfeldt-Jakob (KROITS-H&gd faar YAH-kobe) 1T (CJD) Uas 3rTeri AR fAeR & S ATyier 3R 3idd:, gog & 3R ST 21

SHIPRA CHAUHAN/GENERAL SCIENCE — BIOLOGY MOST IMPORTANT QUESTIONS



GENERAL SCIENCE - BIOLOGY - 200 QUESTIONS / SET -1

Creutzfeldt-Jakob T & ST&10T 317 AHIYLT S AT RPRI S SteoiigmR T & THM & Tda 2| @ifd Creutzfeldt-Jakob T SAAR W
g 31T Aot A ggar 1

o

it

{
J
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Q20. The velocity of blood flow is highest in
Th UATE &1 3T Had 318 e 3
A.  Ascending aorta /3rfST wailel
B. Capillaries /frerai
C. Large veins /&gt ==t
D. Pulmonary trunk /aeH= ¢
Sol- The ascending aorta is a portion of the aorta commencing at the upper part of the base of the left ventricle, on a level with
the lower border of the third costal cartilage behind the left half of the sternum.
The ascending aorta is the beginning portion of the largest blood vessel in your body.
It carries oxygen-rich blood from your heart to the rest of your aorta.
Your two main coronary arteries branch off of the ascending aorta.
In the ascending aorta the highest velocities and stroke volumes were achieved during late expiration while in the pulmonary
artery blood velocity and stroke volume were greatest in inspiration.
SRIE TETHHT §T¢ Afdeet & MR & Huh R 7 Y& €1 aTel) HeTedt &7 Us e €, s S & 91¢ and) R & e ek siee suifd &
et e & Ay T TR R B
STRIEY ETemeit STTO 2R BT T TSt ¥ ATRRST BT STHWS Wi B
UE ATUS geT A AU ST HETeH deh ATrdIS geb b o STTdT 21
FTTEY & T PRI et TR HETeE & Poerdt &)
SRYET HETerT H Ieaan T 3R e A R F wEIitd S IR erfiie 6 78 ofY, Safs pugy w3 w6 9 ik e Y 7 o § a9
w31 Al

Q21. Which of the following is not one of the prime health risks associated with greater UV radiation through the atmosphere
due to depletion of stratospheric ozone?
g & A P FHATTHSHIT IS & g & SRUT TR0 S ATEH A e et fafawor & 2 wiRa Red SRaAT & ¥ U T8 872
A.  Increased skin cancer /agT g3 T IR
B. Reduced Immune System /&H UfaRel Jome
C. Damage to eyes /3Rl &I JHA
D. Increased liver cancer /agT 31T ok "R
Sol-
Ultraviolet A (UVA) has a longer wavelength, and is associated with skin aging.
Ultraviolet B (UVB) has a shorter wavelength and is associated with skin burning.
Too much UV radiation from the sun or sunbeds can damage the DNA in our skin cells. DNA tells our cells how to function. If

enough DNA damage builds up over time, it can cause cells to start growing out of control, which can lead to skin cancer.

Dermis

RS T SRR

__Subgutaneous Layer .~
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UV radiation suppresses the immune system in multiple ways. It inhibits antigen presentation, stimulates the release of
immunosuppressive cytokines and induces the generation of lymphocytes of the regulatory subtype. The major molecular target
for UV-induced immunosuppression is UV-induced DNA damage.

the Eye

RIS T (gdiv) & T daf et et }, R gg @ S W I A A B

RIS & (gt S awr ol w0 a1} ok us 7w & o F FE @ A

TR T A B g 31 gt fAfawor gundt =y HifAwrsit #§ Sy Y JHuT UET IhdT 81 STV EEI S AEah & gardT € b 5wl
AT 21 AT TG & WY UgTd ST afd el B, A g8 A1 B A1 A a6 &1 BT SRUT & TepelT ¢, T =t 3R &) Tl 21

Tt fafdmor o€ &Re J ufearem yonelt o1 gaT a1 21 TE vl IR &Y AT €, uieRemem e Argeifaa Ht ReE &Y IAfSd awar & iR Hame
IUTHR F fmprareet $t didt @ Ufika Fxar &1 gd-Ufa sEReiE & A uRe suifde weT gdt-ufa S afa &

Tl UTeT STRE & Tt WRATSt B 37 AT B| FHifFae aifa, Wifamfde ok ustEr st yad gdt Shifw & ol dwrfad e vvre € iR siaa: w8
SR &7 HROT a7 Fahd B

Q22. Gastric juice of infants contains :
faggait & Mg T & anfdre &
A. maltase, pepsinogen, rennin /dTeest, SftaHIeH, YAT
B. nuclease, pepsinogen, lipase /=gawiist, UftaATo, @8t
C. pepsinogen, lipase, remnin /OftaAISH, @TsU, IAMT
D. amylase, rennin, pepsinogen /THTSAS, I, TftaIaH
Young babies (less than half a year) have an immature Gastrointestinal system. Unlike children or adults, their Gastrointestinal is
unable to produce digestive enzymes.
And that's why, unlike children or adults, infants are unable to digest many macromolecules.
Mother's milk contains many digestive enzymes that help in digestion in the infant's alimentary canal.
Pepsinogen -
An inactive enzyme that is secreted by the gastric cells and gets converted into its active form i.e. pepsin by the action of acid
present in the stomach.
This pepsin is utilized by the digestive system to break down the dietary proteins.
Lipase -
Lipase is an enzyme that is present in the digestive secretions and converts triglycerides into free fatty acids and alcohols.
Rennin -
Rennin is a proteolytic compound blended by the stomach. Its role is to sour or coagulate milk.

B g1 (S I § o) T roRuad TheigeersT ey 8idT €| a=i1 O7 90! & faudia, 3eT TReEeerset Ut USTsHl &7 IeaTe o o
FrEme g &

3k gHifay, s=if o1 govet & fRudd, Ay o Apmiaeged o uar 78 ua 8

T & g B 5% TS TSIsH &9 & Sit Y] &1 31ER A1 o Uy # Heg o &1

oftgoT -

s Fftr tored St fiRkes Siftersi grr aifad g1 € 3ik 9e & Hige viis & far & srow afthy w0 ot aftgs & uRafda & smar 2
= UfST &7 IUBNT a9 gRT 3R NEN &) area & faw far sirar 1

TS -

AT TS Toled & Y UTee Tra & Hig 8T € iR ersfianmesy &1 qeb $e) vfiis ok siewige & uftafda axar 2

¥ -

I e grT afde ve Wdamsies ffiie §1 $TeT S0 gor &1 g7 IT TMTeT 3T B

Q23. When you hold your breath, which of the following gas changes in blood would first lead to the urge to breathe?

T Y SO TR A IR W@ &, A i H B W i w7 F uRad & $ROT HeRY UEe Wi o Y g7 UaT Rt 87
A. falling O2 concentration /fiReY g8 O2 Hfgar
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B. rising CO2 concentration /&gt CO2 |igar
C. falling CO2 concentration /fiRdt CO2 Higar
D. rising CO2 and falling O2 concentration /dget CO2 3R fiRedt O2 wigar
SOL-
uman respiration includes exhalation of carbon dioxide.
When you hold your breath, the amount of carbon dioxide in the body increases, thus making the blood acidic.
This change in pH triggers chemosensitive receptors which activate the respiratory centre of the brain.
Hence, an increase in carbon dioxide is the first to lead to the urge to breathe.
JHM 4T § DI STSHTRATSS T HTT BISAT AT 21
S 31T 7O i AP wad 8, A7 R H P STeattaaTss $t 7 9¢ el 7, ford wh el € S 21
fiea # wg uftads SRR R & o o 8 S 9w & e $g 3 afda o
AT, FTE STeriaTes | 3ie a8 Uga i @ &l 5=87 IaT vl B

The Respiratory System

frontal sinus
nasal conchae

sphenoidal sinus

nasal cavity nose

pharynx larynx

trachea

alveoli bronchus

right lung bronchioles

diaphragm left lung

Q24. Select the correct matching in the following pairs:

fafaRed Sifeal 4 T e & 9gq3 o<

A.  Smooth ER - Oxidation of phospholipids /&2 £3TR - BROBIfATUSH $T SATaidHur
B. Smooth ER - Synthesis of lipids /&7 $3TR - faifts &1 dgwor
C. Rough ER - Synthesis of glycogen /3% £31R - TATSSISIT ST THTOT
D. Rough ER - Oxidation of fatty acids /3% 3R - Tl uflis &T sifaeiiawor
Sol-

The smooth endoplasmic reticulum functions in many metabolic processes. It synthesizes lipids, phospholipids as in plasma
membranes, and steroids. Cells that secrete these products, such as cells of the testes, ovaries, and skin oil glands, have an
excess of smooth endoplasmic reticulum.

The rough ER, studded with millions of membrane bound ribosomes, is involved with the production, folding, quality control and
despatch of some proteins.

Rt CEreTas Yegem o Tarrey uiharslt § 1d adT §1 Ug ffds, Grepifaitey o wiear e ok ®X7ge & ¥ § G 5 &1
HIASIY ST S IcaTe T Tifad Fet €, S b gur, sferer 3R @@= & A Ufamt 6 HifAersit § R Erenfons g & sifdiedr gt
2l

I SR, ARG} ool I 98 ASTAH A <) 8, B WA S IedTed, a8, uraT T 3k o & ary i 2

Differences Between Rough and Smooth Endoplasmic Reticulum]
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ROUGH ENDOPLASMIC RETICULUM s, SMOOTH ENDOPLASMIC RETICULUM
FUNCTION s 3 FUNCTIONS

+ Modifies proteins that willbe R 2 + Synthesizes lipids such as fatty )
& shipped to other locations in <} = i"" acids, phospholipids, and steroids
= “\( the endomembrane system, ‘ 727 ;= « Detoxifies molecules such as

’b("; (33

alcohol, drugs, and metabolic

the cell surface, or outside
waste products

the cell

Ribosomes

Smooth ER is called
“smooth” because it has no
ribosomes on its surface.

Q25. Which of the following algae produce Carrageen?
ol # 3 S A dare IO BT IedTed aaT 87
A.  Green algae /&% diatet
B. Brown algae /3T Sated
C. Red algae /aTet dtarer
D. Blue-green algae /i & dare
Sol-
Carrageenans are a family of natural linear sulfated polysaccharides that are extracted from red edible seaweeds

AT UTHfAe YRS Tehes TAIHIRIES ST Th URAR § 51 ATed [Tl T Aared  Fiprer o &

Q26. Botanical name of Turmeric is

Tl BT IRAAS T &
A. Azadirachta indica / 3TSTERTST gf3@T
B.  Hibiscus rosa-sinensis /f&fsvea dar-aHfaw
C.  Curcuma domestica / FRFHT SHRCHT
D. Ammania baccifera /3mTfaT SHTART

Sol-

®  Azadirachta indica, commonly known as neem, nimtree or Indian lilac, and in Nigeria called dogoyaro or dogonyaro, is a tree
in the mahogany family Meliaceae. It is one of two species in the genus Azadirachta, and is native to the Indian subcontinent
and most of the countries in Africa.

o Hibiscus rosa-sinensis, known colloquially as Chinese hibiscus, China rose, Hawaiian hibiscus, rose mallow and shoeblack
plant, is a species of tropical hibiscus, a flowering plant in the Hibisceae tribe of the family Malvaceae

®  Ammannia baccifera, also known as the monarch redstem or blistering ammannia is a species in the family Lythraceae. It is

widespread in the tropical regions of Asia, America and Africa. It has been naturalized in Spain.

o aroTieRTeT §Re%T, fORY AR W NH, Rud) a1 wRAT gored & w0 & ST AT §, 31k Areshifar & Sary ar SRy sar ST @, JeE
ufRar Aferare ¥ vs U €1 g SrsiTferTeer Siv &I e vonfaat § & ua 2, 3k a8 wRdg Sunerdiy ek arhier & arfdeier 220 &1 qot
R 21

o Rfvww Aer-RAiRT, Ok Siemra & urst & D Rfswra, 9rgar A, gadas vy, As 7id sk ysid wie & ¥ 8 ST 51T 8,
Iumfesi RSty $t e uonfa €, s araaddt whar & Rfswh Swenfa # we ot arer gl

o armTET SHRT, HA WATh Yewew a1 foe i ararar & v & off ST Si7et €, iRt oftar &Y ve venfa €1 7 ufdvan, smfver ek
IhieT & Iwisedty &t 7 oo &1 58 W § Uiefas awmar mar B

Q27. What are the organisms which feed on the wastes or dead bodies of other organisms such as mites and earthworms called
?
3 Sfia Y 3 Shat S g 3R Hu & srafiee a1 ga Rk o @i &, 9T e 82

A.  Omnivores /aafgrt

B. Decomposers / 3uees

C. Carnivores /HAiETEIY

D. Detritivores /3fefeara

An omnivore is an organism that eats plants and animals.
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Decomposers are made up of the FBI (fungi, bacteria and invertebrates—worms and insects). They are all living things that get
energy by eating dead animals and plants and breaking down wastes of other animals.

A carnivore is an organism that mostly eats meat, or the flesh of animals.

A detritivore is an organism that eats dead or decaying plants or animals as food. Detritivores include microorganisms such as
bacteria and larger organisms such as fungi, insects, worms, and some crustaceans.

TS adueh U Sfia & S dheit ok Set Y @ &

FHUIR THETITE (Fap, Faeifa ok HAeh-H13 ok H13) T 97 81a &1 F oft Siifda S & S ga SRt aik dedt &r wara aik o SRt
F FI P AR Folt U BT 2

HIATETEY Teb T St & Y SUTETAR Wi AT SR} T Hi @ 31

fRfefedR o o Siig & S 9 7 T3 aTet ahelt a1 SIeRt Y IS & F9 # @TdT €1 Detritivores B ggrohia 98 SaEifar ik 93 Sfig 3 oas,
P, H13 3k o5 HRRAT i B

Q28. The use of chemicals for therapeutic effect is known by which of the following names?

Rifcy T & Toie T S ST B RufeRad § O i 9 & S ST €7

A.  Chemistry /Rama+ faam

B. Chemotherapy /&THI2RdY

C. Physiotherapy /fesfaaraRdt
D. Chromatography /st

Sol-

Chemotherapy is a violent form of chemical drug therapy meant to demolish continuously growing cells in the body.

The use of chemicals for therapeutic effect is known as Chemotherapy.

A doctor who specializes in the treatment of cancer is known as an oncologist.

It is often used in combination with other therapies such as hormone therapy, surgery, radiation, etc.

The use of combination therapy depends on the stage and type of cancer the person is having, his/her overall health, previous
cancer treatments, location of the cancer cells, and personal treatment preferences.

FHHTRT IS gar RIS o7 Ue e ¥ & foraeT 382 AR & o aR gad! SIfAbIail e T8 BT 2

fafeseia gvme & o wmeE! & Sudh & St & ¥ 7 ST o 2

TS Sfaer ot R & ITAR H fAAWdr Radr 2 I/ sfi-draiione & ¥ # ST 1T 8

FPT ITHNT SRR 31T ITART SR g A, woldt, fafdwor, anf & waier & fsar s 2

e R T IuahT 39 Sfts $ FIR & W01 3R TR, I9F THY [WRe, fTea FIR ITER, FIR SAS16I S WM ok safesra Iw=R
et w® PRk oxar 2

Q29. Amoebic dysentery is caused by
srfifdes e fred ror grar &

A.  Entamoeba coli /Te3rHiaT leit

B. Entamoeba ginglvalis /Geamiar fSierarfca

C. Entamoeba histolytica /tcsHiaT fEeifaifeaT

D. Amoeba proteus /3T WIEH
Sol-Amebiasis is an intestinal (bowel) illness caused by a microscopic (tiny) parasite called Entamoeba histolytica, which is
spread through human feces (poop). Often there are no symptoms, but, sometimes it causes diarrhea (loose stool/poop), nausea
(a feeling of sickness in the stomach), and weight loss.
The parasite lives only in humans and is passed in the feces (poop) of an infected person.
A person gets amebiasis by putting anything in their mouth that has touched infected feces or by eating or drinking food or water
contaminated with the parasite
ST Ua 3ridt (31777) & St & S YenisaT REffedT T U ger (B1?) WRefidt & $RUT &l &, S 79a 0t (qU) & Arens § Shefdl
B IR FIE A&I0T TEL B &, A, Ff-Fft 78 o= (ST 7 / W), Taed! (Ye o st S araqn), 3R I ge BT SRUT ST 2
WRefdT et AT F &1 € 3R Ue Wehiid sufeh & el (qU) d UTRE €1 Srelm B
TS s Y 3Ta e § W SIer & ot T Hel B waT & wrofidt & e wior ar ar @ny o O & s @ st &

Q30. The bacterial cell wall consists of

Shary] HifdeT faf & g &
A.  Cellulose /gt
B.  Lignin /fafoe
C.  Mucopeptide /HHIUETES
D. Pectose /9aist
Sol-
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Peptidoglycans (or mucopeptide or glycopeptide or murein) are the structural elements of almost all bacterial cell walls. They
constitute as much as 95% of the cell wall in some Gram positive bacteria to as little as 5 to 10% in Gram negative bacteria.
Peptidoglycans are made up of a polysaccharide backbone consisting of alternating muramic acid and glucose amine residues in

equal amounts.

AftcETATEST (T HIUEIES IT TARSIIETES a1 FRA) T Juft Shary] HifeT At & WRees a &1 3 $8 U gifoifed daxifar § 3
1 TR BT 95% SR T THRIES FHRINET H 5 F 10% 7S BT 107 F 81 WeSarsdd w@ uidrianTss g 6 a3l & o g € oo aid-and
J mR1fAe TR 3R Topdier THTEH S TH | H E9

Q31. Which of the following reproduces only inside a host cell?
i & T Saot DT HIAPT F R Tor= aar & 2

A. Bacteria/ Sffargy

B.  Virus/ fawmy
C. Amoeba/ et
D. Fungus/@as

SOL-

Bacteria-Bacteria reproduce by binary fission. In this process, the bacterium, which is a single cell, divides into two identical
daughter cells.

Virus- A virus cannot replicate alone. Viruses must infect cells and use components of the host cell to make copies of
themselves. Often, they kill the host cell in the process and cause damage to the host organism.

Fungus-Fungi reproduces asexually by fragmentation, budding, or producing spores. Sexual reproduction also occurs in virtually
all fungi. This involves mating between two haploid hyphae.

Sharup-sfiary] fgfavdsT grT o+ ava €1 7 uftsar §, SHary], St U Uad SIS 8, & TAH Tdfa Siftiersit # S g st )

INRY- UF IRY el TAPTa &l 91T THdT &1 aTRT B HHAGIS BT Ui BT 91T 3R T & ufaat g9 & faw dsia A & gt o
IUTNT &RAT IRV TR, F 3T UihdT T ASTE HIAST B AR a0 & 3R ASa g &Y JHaT ugand &

FaF-Had favdsd, Fatfed a1 Fiemyy dear v SrAfiies U A T T &1 W Yo ot @t Tt S & gt 71 59 & sngftid greus & I
T A 1

Q32. Viruses that infect bacteria, multiply and cause their lysis is called as

J fAwTY] St SfiaTupsit o Wesiid wd &, 70 6d & 3R 37 RiieT BT SR ¢, FEAd &

A. Lysosomes / @rsHEH
B. Lipolytic /fdidlersfes
C.  Lytic /3meeT

D. Lysogenic /aTgaiaife

Sol-

The lytic cycle is the method of the Reproduction of a virus in which DNA is replicated and capsid cases are produced to carry it.
-In these, proteins were used by the viral genes to replicate themselves and after replication, they produce their own viral
proteins. Now these proteins and the DNA copies will act as the new virion.

RS =% @ arra & et Y RAfY & o <o &Y e ST & ok 5 @ o & A Sftas ATt o1 Iedted fsam S 2

-3 IR S gRT W &7 IUTNT e B ST F o fvar Sirar o ik ufdsfd & a1e, 3 37un WY & IR Wi &7 Idie axd &1 3| &
e 3R ST Hidt FU araas $i e o Bl

LYTIC CYCLE

Attachment Maturation

The phage The viral DNA Phage DNA New phage The cell lyses,
attaches to the enters the host replicates & phage particles are releasing the
surface of host. cell. proteins are made. assembled. newly made phages.
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Q33. Tricuspid valve is present in

TS aTed HigE gidT &

A.  right atria and right ventricle /arat srefer aik gt dfgam
B. left atria and left ventricle /et arefar 3k st dfeaer
C.  wall of atrium /3ifcig & fafer

D. wall of ventricle /g & fafer

Sol-
The tricuspid valve, or right atrioventricular valve, is on the right dorsal side of the mammalian heart, at the superior portion of

the right ventricle.

TISHANS dled, T ST UIAIAeHeR daled, 1T dfedel & Hud 2R #, Ta1fl gag & i Ysdig Wit | T 2

Superior |
vena cava .

Mitral
valve

"""" ... Aortic

Pulmonary valve

Tricuspid |
valve

Inferior vena cava ™ Pericardium

Q34. The wings of house fly and the wings of a sparrow are an example of:
TeRdt & Wy 3R TivET & RE 6 IR 8
A.  Analogous organs /3r&q 37T
B. Vestigial organs /3@t 3T
C. Respiratory organs /43 37T
D. Homologous organs /ISTTdia 3T
Sol-
The wings of a housefly and that of a sparrow are an example of analogous organs, as their basic structure is different, but they

are used for the same purpose; i.e., flying.

Vestigial organs are organs, tissues or cells in a body which are no more functional the way they were in their ancestral form of
the trait. It is authentication of evolution and hence, were helpful in explaining adaptation.
Such a structure can arise due to gene mutation which causes a change in the proteins. These mutated proteins result in the

formation of vestigial structures.

Homologous organs : The organs which have the anatomically same structure but are different in functions are called
homologous organs. Examples of homologous organs are as follows: Mouth parts of cockroach, honey bee, butterfly. Forelimb

of man, whale, bat, cheetah.

e ARG 3R T TivaT & TR IU ST & ISTERVT , TS ITHN B TEET T €, A ST IUTNT U &Y 32T & e far Srar §; e
EECill

RT3 IR & 37T, FaAP TT AT & ST 319 3T RE W S T8I R R & A F 3o Ugs w0 F 9 w8 Reraare &1 yomofiasor § ok
UMY, IgPe I URAT T | TgHS I

VY TR M9 IeIRAdT & FROT 3T &) Topel! & ST W & URTd BT RUT S §1 &7 Icaikafcid Wt & TRUMRaET Sadst TR et
2l

TS ST: F 3T FAHT miifees TRamr T Y 2, Afe il # g 819 €, AHad o Fga &1 Tordiy Sl & ISTER0T 39 UR §: fAeeg &
He & 3iT, mywfRadl, fade| 79, &, Tew, FdT ST ST
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Q35. Loop of Henle is found in:

BT T o T ST &:
A.  Lungs /%53
B. Liver /ad
C.  Nephron /3w
D. Neuron /=RF
Sol-

The Loop Of Henle is found in the kidney. It is the portion of a nephron which leads from the proximal convoluted tubule to the
distal convoluted tubule.

The German anatomist Friedrich Gustav Jakob Henle discovered and named it. The Loop of Henle creates a concentration
gradient in the medulla of the kidney.

It allows filtration to take place by providing the gradient so that the filtrate can pass through diffusion.

U 31Tt &t 9o B UTHT STdT &1 TE AT T 98 U €T & it THIRY GUIGER AT § G YATGER Afoidr &Y 3R ST &

ST TTEIARE thefes TATa Jod e ¥ TTH! Wil Bt 3R THT 19 RaT| 9 BT 7T T[S, & Tooll § Ueh THTIAT STed §1T 2

TE 2Tl U e e Y Srgafa aaT & a1fs s-T TR & Tor T

Proximal tubule

Distal tubule

H | »
/ /
,
Bowman's capsule | ‘ N 4— Connecting Duct
[ |

J
I
Descending limb—— ‘
I
i 4

\-/—{—f— Loop of Henle

Parts of Nephron

\
2 _Ascending limb

Q36. Breathing rate in human is controlled by:

ATE # A R PR e #

A.  Thalamus /dama

B. Hypothalamus /gsqdawd

C. Cerebellum /3rgARkass

D. Medulla oblongata /AgdT SiaiTeT
Sol-

The medulla oblongata is the primary respiratory control center. Its main function is to send signals to the muscles that control

respiration to cause breathing to occur.

AgaT SaiTer rAfde s fgaor &g §1 59T o o1 wiadft o Had AT 8 9 59 &) fd e & AT 9 o &1 SRoT sHar 21

1 VT T
A \4—\(\ Cerebru \\\s
( HI /-7; *’me‘/{ ™
I~ Q/ ~C N
VU
\‘\“\'{

Mesencephalon
Pons

Medulla
Oblongata

Q37. Nematoblast or stinging cells are found in which phylum of animals

PAceeRe a1 gua arelt SIS v Sigsit & we § urs a7

A.  Porifera /aIR@=T
B. Annelida /wafasr
C. Cnideria /fetfar
D. Arthropoda /3maifarsT

Sol-
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Nematoblasts (cnidoblasts) are stinging cells found in the outer epithelial surface of Cnidarians (coelenterates) like sea anemones

and corals. They are used for anchorage, defence and for capturing the prey. Epithelial tissue originates from the ectoderm.

cnidarian, also called coelenterate, any member of the phylum Cnidaria (Coelenterata), a group made up of more than 9,000 living

species. Mostly marine animals, the cnidarians include the corals, hydras, jellyfish, Portuguese men-of-war, sea anemones, sea

pens, sea whips, and sea fans.

fARIgeRT (cnidoblasts) TYW TTelt SIABIT & ST T THHEN 3R FRT 6 Re Cnidarians (coelenterates) & s8¢ ITEHT Telg o TTE ST

| 3T IUTNT TR, & 3R APR & Uhs & v 5ar Sar 81 ST Sdd S I Taesy A gl &l

cnidarian, TS coelenterate ft T&T ST €, HIg@H Cnidaria (Coelenterata) &7 ®18 off Te@, 9,000 ¥ 1A SHfAd Usiadt F 47 Ua TE|

STETER TG SR, cnidarians & 57, &Te3T, JfAfther, game gg goy, Tqet e, Tqdl dam, e 91ge 3R agd v enfae 1
CNIDARIA

Nettle animals

Anthozoa

Scyphoz
Swimming Jelt

a Staurozoa Cubozoa Hydrozoa
Stalked Jellyfist ellyfish Hydroids and siphonophores

Q38. In which animal, open blood vascular system is found?
Tasr i) & AT ThATTReT T TTaT ST ] ?

A.  In Earthworm /dgam &

B.  In Periplaneta /afwemer #

C.  InMan /3meHt &

D. InFish /Awet #
Sol-
According to the classification of the animal kingdom, Arthropoda and Mollusca have an open type of circulatory system while
organisms of Annelida have a closed circulatory system.
Earthworm is a member of phylum Annelida and has a closed circulatory system. Open circulatory system is a characteristic
feature of Arthropoda and Mollusca, not of Annelida.
Cockroaches are brown or black bodied animals that are included in class Insecta of Phylum Arthropoda. Periplaneta is a genus of
cockroaches
SIFERT & WU & GifiawuT & SgER, MATHTsT 3R Aokt # Us gl THR Ht TR YOIl €T § Safds vafesT & shat § ve d Tar gomedt
ok
HYIT QAT B HT T & 3iR 88 U & TIR TOTel B 1 30T Tdheiedt e smyifarsT sk Aierar 6t va fAdwdr 8, wifasr & 7
AT R AT FT RR AT TR B & T3 Brgerw amyifarst & arf Hie & enfaret far smar 21 dfcmer fieg 6 v ot &

Q39. In herbaceous plants 'guttation’ takes place by
QT gt R i gRT AT 22

A.  Stomata /Eer

B. Hydathodes /gTgsdTs

C. Root hair /aTdl & 318

D. Flowers /%a
Sol-
Guttation is the exudation of drops of xylem sap on the tips or edges of leaves of some vascular plants, such as grasses, and a
number of fungi. Guttation (from Latin gutta drop) is not to be confused with dew, which condenses from the atmosphere onto
the plant surface.
A hydathode is a type of pore, commonly found in angiosperms, that secretes water through pores in the epidermis or leaf
margin, typically at the tip of a marginal tooth or serration.
T Fag! e, I8 ur, 3R 5F Faw S ufat S gfesat a1 fFRT R Seey u B §@t ST e §1 7R (/T 1gr 310 @) vy & e ufi|
TE T 2, S arereRer § T waE W Ol @ 31
U ETESS U TR &7 g &, ST Sk R TS & urar Sirar 8, S vty ot ofies anfsia & ot & urenm @ ot &Y 7 =T 8, 3HaR
R AT S AT W Bl A R
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Guttation Transpiration

Occurs during night time. Occurs during daylight

Water lost in guttation is rich in minerals. The transpired water is pure.
Water is lost as the liquid. Water is lost in the form of vapors.
The process takes place through Stomata perform this process
hydathodes.

Guttation is an uncontrolled phenomenon.  Transpiration is a controlled and regulated
phenomenon.

Q40. A plant cell, an animal cell and bacterial cell share the following structure features -
e UTeT HIfAPT, T g DA 3R SHaT0] SifdeT FafoRad Sremr &t fFdwar arem o= & -
A.  Cell membrane, Endoplasmic reticulum and Vacuole /&I e, TEafons Yegam sk Rt
B. Cell wall, Plasma membrane, Mitochondria /@& fAfY, wTeAT faieetl, ATSeIdi-gaT
C. Cell wall, Nucleus and Cytoplasm /@fi&r ffR, Fgw ik areeicrs
D

Plasma membrane, Cytoplasm, Ribosome /TATSHT feiewt, FTECIwToH, IS
Sol-
Cell is the basic structural and functional unit of all living organisms. Based on the presence of a nucleus, cells are classified as
eukaryotic or prokaryotic. Plant cells and animal cells are eukaryotic, while bacterial cells are prokaryotic. The nucleus is present
in animal and plant cells whereas, absent in the bacterial cell.
an animal cell, a plant cell and a bacterium share the plasma membrane, cytoplasm and ribosomes.
an animal cell, a plant cell and a bacterium share the plasma membrane, cytoplasm and ribosomes.
FifreT it Shifaa Shiat 6 ghard s ok Fries o 81 e & SufAfa & smar |, e o griees o Mdbfaifes & wu
#F i fRpam ST &1 UTET HIRGT 3R Sig FIRGTE ZHRANR &, Sl SAaTu] HHRIHTE SRR &1 e oig R Traw i1t 7 HoE
T & STty STy ST 7 SR g &1
T Sig DIAPT, TFH T HHAST 3R T SHT0] WA fBieet!, Sifdereer iR Teaia e =
T Sig DIAPT, TFH T HHAST 3R T SHT0] WA fBieet!, Sifdereer iR Teaia e =

Q41. Most fishes do not sink in water due to the presence of -
(1) Swim bladder (1) Air bladder (lll) Air sacs spongy bones (IV)Air in
sfater wofat et Suf@f & eror ar § 78 godt & -
(1) areerme (1) argamer (111) argerer (1V) Weft T # vt arg
A. | &Il are correct
B. Il & lll are correct
C. I &IV are correct
D. Il &Il are correct
Sol-
Fish have a swim bladder or air bladder which helps them to remain buoyant without sinking in water. They are present in the
body cavity.
Tesfad! & TR aTAT AT AT A JARTT g & St 3= U # 38 AT vaefRe 38 # Hee At 213 eRR e # Hise B

Q42. Birds have:
A. two-chambered heart /al-&&ftT gaa
B. one-chambered heart /Us-oeita gea
C. four-chambered heart /<R-%eftT gaa
D. three-chambered heart /df=-s8fta gea
Sol-

Bird and mammal hearts have four chambers (two atria and two ventricles).
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A frog, which is an amphibian, has a heart with three chambers (one ventricle and two atria), and fish hearts have two chambers
(one atrium and one ventricle).
An octopus heart system contains three hearts—one main heart (H1) pumping blood to the body and two other hearts (H2 and
H3) pumping blood to the gills. A, atrium; V, ventricle.
Teft 3R Tl ge # IR Fet (7 srefar 3R 3 fie) g 8

e Hewh, S U SUTRR &, B faeT i wall (ue dfeeper aik <Y wfean) & ary @1ar 8, ik Awelt & foe & & ®&1 814 € (vo uieaw sk vs
dfewa) |
T SR ged U § 6 ged B & - U T gad (H1) R 1 3b U0 &t & 3R & 370 gaw (H2 3R H3) st § wh ta e 21 T,
ufeas; Y, dfewa

Octopus

8ird l

« = b‘m r%

Mammal

Adult
zebrafish

A.  lysosomes /dTgHIEH

B. nucleus /A&
C. vacuoles / 4T
D. mitochondria /ATgeIdif~gar
Sol-
Absence of ATP synthase
oxygen
Ethanol + Carbon dioxide + Energy
(2-carbon moelecule)
In Ribosoma §°
cyloplasm Lack of oxygen
Glucose ——— Fyruvate Lactic acid + Energy
(6-carbon (3-carbon mu(;:"l:"::llx} (3-carbon molecule)
molecile) molecule)
+ - < N
Enesgy paboriidy N oumame
& Carbon dioxide + Water + Energy
n
mitochondria)
Q44 __________ tissue is formed beneath the skin and between internal organs.
__________ Fad @ar S T R sl st & S g 81
A.  Epithelial /3g&ar
B. Nervous /dg
C. Muscular /AR
D. Adipose /@&t
Sol-

Adipose tissue is formed beneath the skin and between internal organs.

Adipose tissue is a type of loose connective tissue that stores fat to provide insulation to the body and protect major organs.
AT S @ & A 3R 3raie st & dia T B

T FAP U USR BT AT TTIS Fdd & ST IR BT YA USTT 3R THRA ST 61 367 o & AT a7 Y GUEd T 2

& ’grm ! 3 Adipocytes

{white adipose celis)

1% i\
ol ;o\
/
7 & o

A
i ‘

Adipose Tissue
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RETeT ________ B WTEHT P T d e B
A.  Smell / 7ig
B.  Hearing / s@or
C. Tactile / Tsf&
D. Taste /@i
Sol-

Gustation is usually called the sense of taste.
Taste is the sensation produced when a substance in the mouth reacts chemically with taste receptor cells located on taste buds
in the oral cavity, mostly on the tongue.
TE $T SATHAR | TG T HIGHT F&T 1T 2
e a9 3T €T & o g o IS verd s a1 # Wie et w & @i e siftiersit & @y e 39 3 ufafisar oxar €, saerR
STH W

Taste Buds

Connective ——
Epliglottis tissue

Taste fibers
of cranial
nerve

Fungiform Papillae

Taste bud

(a) Taste buds with (b) section of a (c) Enlarged view of a taste bud
fungiform and vallate papillae vallate papilla (micrograph, 160X)

Q 46. The pollination by snail is called

Qe gRT 6 SR Gt WATOT Y _____ gl SITT &
A.  Zoophily / Sitftseft
B.  Entomophily/ TrHIfther
C. Chiropteriphily / RRIefteir
D. Malacophily / HeThITtheAT
Sol-

Pollination by snails and slug is called as malacophily.
These flowers have long blooming period to facilitate access of pollen to snails.
HT 3R T GRT RIT0T 1 AATH et 8T ST B
1Y 76 W7 6 UET Y GRAUre=e s & AT 57 et B et srafd @i 31
~— 4 .

P

Q 47. Which of the following vitamins are water soluble?
Fofofaa & § 39 ¥ e o & gemeiia &2

Vitamin-A & Vitamin-B / fefT-AsiR ferfoq-B
Vitamin-B & Vitamin-C / ferf@=-B ik faerfim-C
Vitamin-C & Vitamin-D / fderf=-C aik fderf@=-D
Vitamin-A & Vitamin-K / fef=-A sk fderfd=-K

onNnw>

Q 48. Meibomian glands are located in
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A.  Eye/ 3@
B. Ear/oH
C. Nose/d®
D. Skin/ @=r

Sol-

Meibomian glands are anatomically located in the tarsal plate of both upper and lower eyelids, as holocrine sebaceous glands
that open directly on the eyelid margin and discharge their entire contents onto the lid margin.

TafEe At e w0 d S ik el I ot 6 Tia wie # R gkl €, S 5 grimren aum wfdt S e aere Ao w gerdt
& 3R ggw & Aol W erot g Tl &1 fAde awet &

(a) SA Node /T@U+E

b) 1A Septum / 3TE T d@H
) AV Node / Tdt g

)

d) AV Septum / Tdl dwH

(
(c
(
Sol-

A new "leadless" pacemaker is a self-contained unit that is implanted in the right ventricle of the heart.

TS 947 "HGT MR TR U - sor€ @ O gau & aife? dfteer & uarifad fasar S 21

ventricle

Q50. Which part of the plant is used as 'saffron'?
T & T T B SW & F9 F vEn R ST 87

A.  Petals / TRgfeat

B. Stamens/4dHWm

C. Style and Stigma / ¥eTset 3R Revwr
D. Sepals /ducq

Sol-

The Saffron spice originates from a flower called crocus sativus—commonly known as the "saffron crocus".
Stigma of the plant is used in making the saffron spices.

In making the saffron spice, stigma of the plant is used.

Stigma is the top of the centre part of a flower.

It takes about 1,000 flowers to produce just one ounce of saffron.

Onion has a modified form of stem called a bulb, or more specifically a tunic-ate bulb.
Sweet potato is a modified root, and potato is a modified stem.

PR FHTAT Hld AfeTH AHS HoT T Iead &7 § - T 3R R "SI P S 7 § ST 1 B
I & Peids BT ITTNT SR S HATA F4 § far S 2

SR T T S T N F afferr 7 vET e St &

Peied T ol S HET T T Y el B

A% te aifg SR a1 o T AT 1,000 Foed 0 &

TS # A T e HNTOd w9 gar & R s @ SfTeT €, a7 31fies 39y ¥ 8w i Rar-wam Sod|
LTEREE T TNTAT o5 &, 31 31Te] U Tifaa o &1
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[ saffron Flower | |

petal

Ve

\

Qs1. Chiropterophily means:

STqRATOT &7 37 R

Production of flowers /Gall &T IcdTa
Pollination by wind / 9a= gRT TRAT0T
Pollination by bat / IHIIIES gRT WRITOT
Production of leaves / gftal &T Iedra

onNnw>

Sol-

Chiropterophily is pollination of plants by bats. Bat pollination is most common in tropical and desert areas that have many
night-blooming plants.

Just like bees and birds that pollinate, nectar-consuming bats have evolved ways to find and harvest the sweet liquid.
STRATOT THITES gRT Uteif &7 RAToT &1 Iwisiestia sk YMRart &t & awmes o1 wmmor ged o 2 o ¢ 3d & Rem are 9 8
SR wywfarat 3k ugh wor o ﬁﬁﬁw&wﬂﬂaﬂﬁmﬁmﬁﬂ%maﬁ@aﬁsﬁ?mém%mﬁﬁﬁwﬁl

Q52. Retina of the eye is comparable to which of the following parts of a traditional camera?

TR Y AT e FHY F Fafafad e & g 22

A.  Film / fooee
B. Lens /@&
C. Shutter / TR
D. Cover /&=

Sol-

The human eye is more or less like a photographic camera.

The retina of the eye is comparable to Film.

The lens system of the eye forms an image of an object on a light-sensitive screen.

The eyeball is almost spherical in shape having a diameter of about 23 mm.

The eye lens is a transparent, biconvex structure in the eye that provides finer adjustment required to focus objects on the retina.
HIE 3R HHIALT T BTt F 6t e 2

31ig Y 3¥feT fbew & IR 2

RGBT AT o USTT-HALT BhF W el avg o7 wfafaws smar 1

TS STER H T MATGR ST & forweT st @ 23 it ghar 21

3T BT i 3RT T T TR, Iwafeir TRemT & St YT | aegail &) $igd e & AT JMaue Sk THTESH UaH adl 2

Q53. When blood is forced into the artery, wave like expansion takes place is called:
ST 37 GET H ITh BT FATE EIelT €, 1 AR P TR &Y HET Il &:

A. Heart beat / g0 &I 93T
B. Pulse /s

C. Flow /varg

D. Ticking / fafaesm

Sol-
Pulse is the reqular, recurrent expansion and contraction of an artery, produced by waves of pressure, caused by the ejection of
blood from the left ventricle of the heart as it contracts.

This pulse can be easily felt by pressing your finger gently over an artery on the wrist along the side of the thumb.
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Tl T 0T o (i, smade faar 3k Ige €, Sit gard & @it gry Rfifa €1a1 2, St g2 & 910 3t @ 36 &l e & SRoT 8T @

FifE g8 Rgsar 2
IS & FHIR STE W U gt W Y Il FF R I eara 7 1Y B ST & Hegy 5 o aodr 21
(a) Places to take cardiac pulse (b) Accesible arterial pulse sites performance aid
& Carotid Carotid artery
-
./Brachial Brachial artery U

Ulnar

o Radial  Radial artery

Femoral artery

o Popliteal artery
Popliteal

Posterior Posterior tibial artery

Dorsalis / tibial Dorsalis pedis artery
pedis ——__

CD4 AP _______ 2l
A RBC
B. WBC
C. Platelets / Weaed
D. None/3TH d &I T8l
Sol-

CD4 cells, also known as T cells, are white blood cells that fight infection and play an important role in your immune system.

Y 4 PADTY, TH=E & AT Yt g 7T B, The b BBV & S THHUT A st € 3k st ufaram voned 3§ Aecaqol yfyer Rurd) &

A.  Cylindrical lens / SeTH®R &
B. Convex lens / 3dd &d

C. Concave lens / J@dd & d
D.

None / &8 ¥ 18 78T
Sol-

NORMAL VISION X

@

Image as formed
(@) on the retina

ASTIGMATISM

Cylindrical lens

Image as formed
®) on the retina
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Qs6. Which of the following gland is known as master gland?
o & 3 Fi9 o 9 o Ty 913 & 50 § 97 ST 27

A.  Thyroid gland/ ¥mRTSS %f

B. Adrenal Glands / Jffiqgee ufaar
C. Pituitary Gland / fice 4fr

D.

Parathyroid Gland/ TRramRms %Y

Sol-

The pituitary gland is sometimes called the "master" gland of the endocrine system because it controls the functions of many of
the other endocrine glands. The pituitary gland is no larger than a pea, and is located at the base of the brain.
Teged fy o evfi-aft sia-ardt a7 6t "AReR” UfY et ST § i 78 3% o Si-aTd Uit & Frat o frifd wwlt €1 feged ufr A d
T 7€ Bt 2, 3k WA & SMUR R R el &

e W
. 7T7 TR
Brain —% V AN 1 Hypothalamus
LE )

Anterior Pituitary
Lobe y

Stalk

Hypothalamus

Posterior Pituitary
Pituitary Gland Lobe

Qs57. Which of the following is not a part of Brain?

Fufafda & 3 #7 olass o Rwr & &2
A. Frontal Lobe /@eTe urfer
B. Thalamus / dma
C. Corpus Callosum / o1d® SargH
D. Renal Medulla / F #gaT
Sol-
Cerebral
Cortex Central
Frontal Sulcus

Lobe

Corpus Parietal
Callosum Lobe
Lateral Thalamus
Ventricles
Occipital
Hypothalamus Lobe

Cerebellar
Cortex

Temporal
Lobe

Pons Cerebellum

Medulla Brain
Stem

Qs8. Which type of jaw suspension is found in mammal ?
Tl § f5a UeR & Sies &7 Rcies g ST &
A.  Autostylic/ ATeRIfas

B. Holostylic / BeiRifais
C.  Craniostylic/ srisiRefee
D. Hyostylic/ eRifa®

Sol-

Craniostylic Jaw Suspension:

This type of jaw suspension is primarily found in mammals.

It is considered a modification of autostylic suspension

In Craniostylic jaw suspension, the lower jaw fuses directly with the sull known as squamosal
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It can also be observed in the Monotremes

FITRCTsME SasT Rds:
T TR FT Ja3T Neie R ¥0 F TTeniat & urr Srar 21

T JicreTsioie e o1 JeTes 74T SIar &

ST RS Sae & Roe &, Radr Saer NS THT & 7§ SHE7 ST
SO HeRT § off &A1 o TopeT &

AR A @ ____ 8l
A, Aril/ ORet
B. Endosperm/ Qusra+
C.  Fruit/ &
D. Cotyledons / stera=
Sol-

FRUI'T WITH FLESHY ARIL

Lychee

Per

rit wall

EXTERNAL VIEW LONGITUDINAL SECTION

OF FRUIT THROUGH FRUIT

Q60.Which of the following is not a member of the vitamin B complex?

fafafad & & s e ff Freae o1 aew 78 872

Sol-

onNnw>

Thiamine / fa1fam

Riboflavin/ IsatafaT
Folic acid/ wifeis aret
Tocopherol / IR

Vitamin E (also known as tocopherol or alpha-tocopherol) is a nutrient that is important for many body processes.

It helps your nerves and muscles work well, prevents blood clots, and boosts the immune system.

Vitamin E is a type of antioxidant, a substance that protects cells from damage.

TR $ (SBIRIA TT ShT-SIBIIRIA & $T & oY ST ST 8) U TV e & 5 IRR & 3 ufhanait & fow geayuf 21
Tg ST Tt 3R AT BT SrEdt RE A BTH B F HEE AT 8, TWh S UG B ADaT & 31 UfRe qonedt B Sere
TRt € T UoR o7 TWhaTadiEe €, U6 Terd Sit Siferai &) Joa § 991 2|

Vitamin: Name:

Bl Thiamine

B2 Riboflavin

B3 Niacin

BS Pantothenic Acid
B6 Pyridoxine

B7 Biotin

B9 Folate

B12 Cobalamin

C Ascorbic Acid

Qsé1. Which one of the following Nucleobases is not found in of DNA?
Fw & @ o a1 gieeraay Sy & FE urr S 82

SOL-

A.

B.
C.
D

Adenine/ TdHTET

Uracil / gifa@
Guanine / T3mTfaT

Thymine / aTgfas
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DNA v RNA -

DEOXYRIBONUCLEIC ACID RIBONUCLEIC ACID

DOUBLE-STRANDED
SUGAR™ PHOSPHATE

USUALLY SINGLE-STRANDED
SUGAR™ PHOSPHATE

|
i
I
!
X DEOXYRIBoSE ! *RiBosE
o R i o R
I
|
N@H BASE PAR | N@H
oM H | SINGLE OH OH

| wucLcopase

Q ! [
HyC N NUCLEOBASES PN

NH \ /- NH
| A NH, >\ H,N | /k
N NH N7 o
THIMINE | N o N\ A~nm /N \ -y W
o (N N (N N,) RaciL
H H H
OENINE

CYTOSINE GUANINE A

Qé62. Which one of the following statement is incorrect?
Fofofaa & § 9 91 Fu7 Tad 87
Gastric juice mainly contains hydrochloric acid and pepsin. / STHTTT 3 # ToT ¥7 & ETEEIaiIRG 3t 3R fta gia &1
Trypsin and chymotrypsin secreted by the pancreas. /fefte sfk Frerifefia sramem grranfda fE oA & 1
The saliva is basic after meal. / WSH & §T¢ @R &R gt 21
D. Deficiency of retinol can cause xerophthalmia. / Xfe=Te &7 wft & SRIwaTieRaT 8 Teha 21
Sol- Saliva before a meal slightly basic having green colour and its pH value is 7.4.

nw >

Saliva after a meal is acidic having yellow colour and its pH is 5.8.
WS ¥ UE TR T T &R &7 & 3R 38T fug 91 7.4 BT 2
WS & 91 H R 3T gt & fSaer a1 fer gar € 3k 59T pH 5.8 €T 31

Qe63. Which of the following complex compound is used in the treatment of cancer?
fFufafed & 3 39 ar Sfed 1ife FR S STar & vah far smar &2
A.  Cisplatin / fwwifes
B. Transplatin/grawiea
C. Potassium ferrocyanide /arefIaw tRIATSATES
D. Sodium cobal nitrite /389 HiaTe A3cTSE
Sol- Cisplatin is the complex used for the treatment of cancer. The chemical we use in the treatment of cancer is also called an
anticancer agent.
The chemical formula of the Cisplatin is cis-[PtCl,(NH;),][PtCl,(NH,).]
RATRAfeT FR & o F AT s 50T I a1 Fiecaw §1 FIR F 3T § &7 o S o amTd = & 37 WHW voie oY g Smar
2l
RRfeT ot Temafie g WS 8- [PtClL(NH;),J[PtCL(NH;).]

Qeé4. What type of amino acid contain by Al cows?
A1 TTET B fFE TR T ST Ui uraT ST §
A.  Histidine / fRRafea

B.  Prolin /aei
C. Leucine / eigfaa
D. Tryptophan / ¢t

Sol-

a2 Allele Gene Bos-indicus

Advanced GENEPOOL.

a2 \
milk { Disease resistant
cow z

Needs no
extra care

Bos-indicus / Gau / Desi | Zebu Cattle / Cattle with hump on back @ 4 i
4 e
a1 Allele Gene Bos-taurus

Dependent on
external
HORMONE
inducements.

for OUR
climates. oppasite to
’ Bos-indicus

isease pr
Cool climates ~
High Maintenance ~
Bulky - Slow mobility ~
quality Milk ~

Ao mitringsroom. 20T

J
Bos-taurean / Vilayati / Holstien / Fersian /| HF / Jersey / Red Danish
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1. Albert Calmette / 3icsc Seic
2. Camille Guérin / &freft quia
3. Edward Jenner / TsdS SR

A. Onlyy k1

B. Onlyland2/fk1ak2

C. Only2and3/fRA%23k3

D. Onlyi 2and 3/R%1,2 33
Sol-
The vaccine was developed over a period of 13 years, from 1908 to 1921, by French bacteriologists Albert Calmette and Camille
Guérin, who named the product Bacillus Calmette-Guérin, or BCG. The vaccine is administered shortly after birth only in infants
at high risk of tuberculosis
JI & 13 TT Y 3afY H, 1908 F 1921 T, WHHET e IRGIATORE 3Tead hemiie 3R HfeT TuRE gRT s a fasar mar ar, =i 3are &
T SRR Seriie-TuR a1 el Rar gl A & S5 SHiaT arer At § € S & qid a1 ST oI ST @

Qe6. Which of the following test is used to diagnose the colour blindness in people?
o # & for wYeror &7 IuaT Sl # o starge F e & faw At srar 82

A, Widal test /euTuc Tt&ror

B. Rorschach test /3 udtemor

C. Ishihara test /sfegRT udtamr

D. Angiography/faaiomdy
Sol -
There are many tests available to measure colour vision defects but the most common is the Ishihara Plate test.
This can test for red/green colour blindness but not blue colour blindness.
This is the test most likely to be used for routine colour vision screening in schools or medicals
a1 gfRe €t oY AT & faw &g uferr Iucsy § Afh Ted 3 § RIERT we uder|
TE Y5/HH FoR sATESHT & AT 2Xe TR THdT & A o HoR ses T BT TEi|
gt a1 e  frafid a1 gfRe St & o 39 wlieror &7 ST 5 ST &t Fet S1fis e @

A.  Mad Cow Diseases / W3 &I 3T

B. Varicella Diseases / afiwmr 3T

C. Nuttallia Diseases / JaTfeerar InT
D. Fog Fever / &I thiay

Sol-

BSE (bovine spongiform encephalopathy) is a progressive neurological disorder of cattle; its symptoms are similar to a disease of

sheep, called scrapie.

BSE has been called "mad cow disease."

BSE and scrapie both result from infection with a very unusual infectious agent.

How (Sared WiATETH Tibardeh) 7afdiat o1 v wmiaelie dfHer Tt IR 2; s @& 98 & Ue AT S 99 B &, O Wit FEa 8

HewE S "N T A" ST T

Fiewg 3R Tt T U S5 &Y ST TP Toic & HehUT & TRUMTEET &l &1

BSE infection cycle m

* vCID!
—
Slaughter }
plant )

i

tglz?A e L roducerl
Likiasincll
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Qe68. How much quantity of salt is found in human body?
AT R F el HTAT F T uraT Sirar 87

A 1%
B. 2%
C. 0.4%
D 0.6%

Sol-

The human body contains many salts, of which sodium chloride (AKA common table salt) is the major one, making up around 0.4
per cent of the body's weight at a concentration pretty well equivalent to that in seawater.

So a 50kg person would contain around 200g of sodium chloride - around 40 teaspoons.

T RR § 5 @90 1 €, fO8 @ 9w oeiRies (UHT 9T 29 THS) UH &, Sl Tl e & SRIR USTIAT W AR & T BT T 0.4
ufaerd 21

U 50 T safes & AT 200 UTH AETH FERISS EIIT - TTHAT 40 T |
THE HUMAN BODY

62% | 16%
Water /. Protein .

Carbon 18%
Hydrogen 9.5%
Nitrogen 3.2%

Sulfur 0.2%
Sodium 0.2%
Chlorine 0.2%

 Calcium 1.5%

Phosphorus 1.2%

1%
Carbohydrate

Q69. Which of the following is an example for marsupials?

Pufafed ¥ o arjftaed & faw ve e &

A. Kangaroo /&TE
B. Whale /&

C. Giraffe /foRTe
D. Rooster /g

Sol-

Marsupial mammals are non-placental mammals.
They belong to infraclass Metatheria or Marsupialia.
Female marsupial generally posses external pouch called as marsupium.
Most common example of marsupial mammal is Kangaroo.

Other examples include Wallaby, Koala, Wombat, Bilby, etc.
TryfTe T TR-arRT TaTendt &

3 gpraea Derdfar ar ardfafea & defta €

aTeT AT ¥ SR W aTedt et €l € O wrdfun et srar 1

AT Oer TaaTe) BT TS 3T ISTERUT TS B

31 IETERN & ared, Hraier, Ae, fSest anfe enfdve &

Marsupials

spotted-tailed oW 0 e B . =% ‘
native cat Y e - v

marsupial mole

Eije,
|

¢ red kangaroo
female with
joey's head

crest-tailed and hind legs
numbat marsupial sticking out
mouse !". of pouch
X _gn h
o z
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Q70. Which of the following is vertibrate animal?

Frofafad 8 & S s amoft 82
A, Kiwi /&t
B. Sponges /¥sT
C.  Star fish /¥R fiber
D. Threadworm /9sad
Sol-
®  Invertebrate animals are those which do not develop a vertebral column.

° Example- insects like a cockroach, flatworm, earthworm, crabs, snails, etc.

®  Vertebrates typically have a bony or cartilaginous spinal column.

o The five most well-known classes of vertebrates (animals with backbones) are mammals, birds, fish, reptiles, amphibians.
®  Since kiwi belongs to the bird group, they are vertebrates.

®  Kiwis are pear-shaped, flightless birds.

®  They are native to New Zealand.

o IHITH TAR F & S B Ty A 78 a=a &

o IRV e, 9uer $, FYU, 3, © I1fe S 13

o  TEcH W AMHAR W US ST TT HIFEATTH TTSTeT DictH il 8

o FHUHFE! (N7 H 85 I THR) & Ui e Wi @t waren, vall, Toe, Ty, IWTR ¢
o fa HIdY sl TE A TafAd &, ST A FAFHI B

o it U F AR T, fHT I aTeT U

o ISl & g Fard &

Invertebrates % vertebrates

Amphublans

Mammals

Q71. Which of the following bacteria is a nitrogen fixing bacteria?

Fofofaa & § Si9-ar Sfiam] e %R0 = araT Siany 272

A.  Salmonella /aTeRAaT

B. Rhizobium /rssifaad

C. E-coli /3-orms

D. Pseudomonas /TEHNTRT

Sol-
Rhizobium is of great ecological and agronomic importance, due to its ability to fix large amounts of atmospheric nitrogen.
This is why Rhizobium is called a Nitrogen Fixation agent.
TRHSAT TSI 6T TS AT BT SIh TR T &IAT S HRUT, AS9TH e TR 3R SN daeft Hae o7 2|
TE FRUT § b AESSTH BT Ao RN Usie et ST
0y

Atmospheric nitrogen
(N,)

/ﬁxalion
Mineralization
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Q72. In which of the following part of the human body, "Internal motion determiner” is situated?

HHa R & Rafeiad § @ fog vn §, "sriake nfa Rufke” R&a g2

A.  Mind / aRass
B Heart /geT
C. Lung /%3
D. Liver /gapd

Sol-

Human heart is known as the 'internal motion determiner’ of the body because of its vital functions for the body including the

pumping of blood.
The heart functions as a pump in the circulatory system to provide a continuous flow of blood throughout the body.

The right heart collects deoxygenated blood from veins. In the left heart, oxygenated blood is returned to the left atrium via the

pulmonary veins.
T ged o RR & 31l i MuRe' & w0 & S 51T @ F9ife 78 76 & ufti afga R & fAv s #eayqul orbt & SR gt 8
BT R ¥R H b &l TR UaTe ve & & fAw TR gorrelt & ues 4u & &9 & & o 21

Superior |
vena cava .,

Mitral
valve

~44.... Aortic

Pulmonary valve

Tricuspid ™|
valve

Inferior vena cava * Pericardium

Q73. By the correct of sunlight, our skin becomes black. It is happened because of ______ .

T & TE B A FHRY T Do e e 81T ______ % PHRUT gAT 2|
A. Carotene /&RET
B.  Oxilofytc /3ifaadIpreeT
C. Melanin /a@faT
D. Phlavoxanthin /TdieafRae
Sol-

The skin uses sunlight to help manufacture vitamin D, which is important for normal bone formation.
But there’s a downside.

The sun's ultraviolet light can cause major damage to the skin.

The outer layer of the skin has cells that contain the pigment melanin.

Melanin protects skin from the sun's ultraviolet rays.

These can burn the skin and reduce its elasticity, leading to premature aging.

T e € & fmior  #Aag R & o ot B A o7 ST St 8, S e wfgat & fwfor & foe meagef #1
ARB Ueh THRTHD Uge] 2

IXST BT FeeTarIeE TaUT =T T BT JehaT UgeT Tad! &

T T TR WA H BN Ehelt & I quies A grar 81

AR =T BT PRl H Sfegraraeie fIRoi F s=rar 2

T TGT BT STAT T & 3R TS AT B B IR T 8, T THT I gt 37T 31 ThaT &
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Q74. Which of the following organs is not affected by kala-azar (visceral leishmaniasis)?

FofafRd & T S A1 ST STASIR (37d ST drmfFaa) T gwrda 78 gar &2

A.  Liver /fGTR

B. Brain /ARas

C. Spleen /far

D. Bone marrow /31& AT
Sol-

Kala-azar is a chronic and potentially fatal parasitic disease of the viscera (the internal organs, particularly the liver, spleen, bone

marrow and lymph nodes) due to infection by the parasite called Leishmania donovani.

It does not affect Brain

HIAT-3IR, e SR TTHe WRofidt gRT THHUT & SRUT AT (STdR® 3T, AW ¥7 & a5d, wheT, I wer 3k faws Higa) St s

R 3R FWTRE TTde welid! da R
g AR BTy &} BT &

Symptoms of Visceral Leishmaniasis (kala azar)

Enlargement of the spleen
Enlargement of the liver
Night sweats

Severe temperature or irregular bouts
of fever that can last for weeks

Bleeding

Blackening of the skin
Scaly skin

Dark and ashen skin
Cough

Weakness

Substantial weight loss

Q75. The blood sucking organisms are :
A.  Hookworms /g&ad
B. Earth worms /3rofad
C. Leeches /Sii&
D. None of the above /98 @ &1 ot T&t

Sanguivorous animals are those animals that feed on blood.
Examples are leech, vampire bats, oxpecker,

TTiARIT IR § THR & S [ W WioH v &

IETERUT Siieh, SR THATIES, Srfaadax anfe &1

Q76. The arrangement of leaves on an axis or stem is called
T 76T AT T TR T &Y e Feerd &

A.  Phyllotaxy /uuf fad=am

B. vernation /aafe

C. venation /@92

D. phytotaxy /wrsercast

Mucocutaneous
Leishmaniasis

g
Mucous and skin

.
\/ Mucocutaneous junction macrophages get infected

e
Visceral
Leishmaniasis

Hepatic and splenic
‘macrophages get infected
Liver and spleen

Cutaneous
Leishmaniasis

Cutaneous macrophages

Skin-epidermis and dermis

Primary host for Leishmania spp.

Y

Organs infected Type of infection

MOSQUitO There are

25 tick species in Arizona.
Some transmit diseases.

It's only the female mosquitoes
that suck blood to produce eggs!

l Leech

Blood sucking leeches are sometimes
used in cosmetic surgery and
microsurgery for better healing!

. e
Kissing Bug
These bloodsuckers
are so named because they bite
near the mouth or eyes!

: Bed Bug

On vacation? Check for bed bugs and
keep your luggage on racks or a table
50 you don't bring them home!

Lamprey

Unlike other fish, lampreys don't have
Jaws— Just teeth and a funnel-like sucking
mouth to take in blood!

Vampire Bat
Two of the three species of
vampire bats target birds only.

Vampire
Finch

This Galapagos Island bird drinks the
blood of blue-footed boobies, and the
boobies don’t seem to mind!

Sol- The arrangement of leaves on a stem is known as phyllotaxy; leaves can be classified as either alternate, spiral, opposite, or

whorled.
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Plants with alternate and spiral leaf arrangements have only one leaf per node.
& a9 R Uftigl 6 e o Bredicad! & ¥7 § STHT ST §; TRl B dfead, aftfa, fAoda, a1 gamaer & $9 & arfiga far S g 21

Jofous 3R Tftfet Ul sgaaT arel Wheit & Ui s Sae v =T gaT 2
LEAF ARRANGEMENT
(Phyllotaxy)

alternate opposite whorled

Leaves grow from nodes, the attachment points in the stem (axis).
In the alternate arrangement, one leaf grows from each node.
In the opposite arrangement, two leaves grow per node.

In the whorled arrangement, three or more leaves grow per node.
The area between the nodes is called the internode.

77. The dead bodies were preserved by the Egyptians using Natron salt. Its main constituents are :
RfaEt 3 2rat 1 AgTT T &1 IUENT o WA BT o7 | $9& o0 U &
A.  Sodium carbonate and sodium bicarbonate /@f3aw @refe 3R Tf2ar sTEFEAC
B. Sodium carbonate and sodium acetate /Ef3gw FEie ik Ffsam wiiee
C.  Sodium bicarbonate and sodium benzoate /27w STedEe 3R Ffead seiwe
D. Sodium carbonate and sodium phosphate /&1f37m FTaiae 3k Wf3aw wiese
Sol- The body was then dehydrated by covering it with natron which is a natural salt consisting of sodium carbonate and sodium
bicarbonate with traces of sodium chloride and sodium sulfate. Eventually, the body was wrapped with linen bandages and put

into a stone coffin.
9 YRR BT AT & TATT HR Id Moifeld ThdT AT AT Y Af2aH Fiktss 3R Tf2ad Tcthe & R & @y Wfeaw see ok @iftaw
TEFIEC T Yo UF WGfads 0 &1 37 H, TRR FT T 6 ufgat § @der mar sk ve ger & arqd o 37 faar mm|

Q78. An ant can see the objects all around due to the presence of ?
i fradt Iuf@fa & Fror art ok Hi axgait o1 3@ Tadt 272
Simple eyes /ATYRUT 37iRd
Eyes over head /feR W arid
well Developed eyes /31t qRg & fasfd arid
D. Compound eyes /dgth o
Sol- Compound eyes are found among the arthropods and are composed of many simple facets which, depending on the details

nw >

of anatomy, may give either a single pixelated image or multiple images, per eye.

Each sensor has its own lens and photosensitive cell(s).

Some eyes have up to 28,000 such sensors, which are arranged hexagonally, and which can give a full 360° field of vision.
Compound eyes are very sensitive to motion.

With each eye viewing a different thing, a fused image from all the eyes is produced in the brain, providing very different, high-
resolution images.

afga orid smyTiigy & g urd STt & ok o Wt Ueqgait @ o+ €t &, S SR 79T & AR & smuR W, ufa arike a1 At v ey sfy
T % saar < et 8

T FR BT STOT R 3R ep1eT et e e 21

P 3Tidl 28,000 76 W IW & €, S e ¥0 J o7af@d 8 €, 3k St quf 360° 3R &1 &1 ¢ Tehal B

afsra o fa & uftr sga Tdeeia &t 2

TS 31T A T 3o il R R, ARas o Tt a1ial @ o ffia ofa 3w 81 €, <Y 9ga oo, S=1-Reffege arelt sfagt ven axdl 31

Head Mesosoma Gaster

Post-petiole ¥

Compound eyes Petiole

| W Compound eye

Mandibles

Antennae

Sting %
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Q79 Which enzyme is present in all part of pineapple plant?
S & T & Tt aT F I A1 Carrsw Higg g 87

Parvulin /Rgfa=

Benzyl Methanol /afSe fuaTe

Bromelain /sHa=

D. Photoisomerase /Gleigaraet

Sol- Bromelain is an enzyme extract derived from the stems of pineapples, although it exists in all parts of the fresh pineapple.

TR U TSITsH &7 31 B ST SHHTRT & o= & U €iaT 8, §Teife T8 drot SHTRT 3 wft it & wisye g 21

nw >

Bromelain is
concentrated
in the core

Q80. In cactus, the spines are the modified:

Fered (ANTHAT) & G 7 sic faeT TUTRT 8T 8

A.  Fruit/ d

B. Stem/ddr

C. Leaves/ ufaar
D. Buds/ &faar

Sol-

Phylloclade
Leaf Spine

Internode

Opuntia

Spines are also modified leaves.

In cacti, spines are wholly transformed leaves that protect the plant from herbivores, radiate heat from the stem during the day,
and collect and drip condensed water vapour during the cooler night.

g ofr dNfara ufeat &

Ffae o, g gl e T suiaia gfwat gidt & S 9 &1 eretent Shal & s 8, 7 & I o & mff it et €, ok 58t v & S wafw
ST AT Y gahgT P 8 SR e &

Q81. Some fungi have been found to cause diseases in man. Which of the following do you think is one such?
Tgd IR S AT & A I IR &, 7 A a1 o AT ITH IR Thel1 &2
A.  Rhizopus/ Jgaiad

B.  Puccinia/ usifaar
C. Aspergillus/ TafSias
D. Agaricus/ 3iiRd

Some species of the fungi genus Aspergillus can cause allergic reactions and mild pneumonia in susceptible individuals.

Other human diseases caused by fungi include athlete's foot, ringworm, aspergillosis, histoplasmosis, and coccidioidomycosis.
Most fungi are saprophytic and not pathogenic to plants, animals and humans.

However, a relative few fungal species are phytopathogenic, cause disease (e.g., infections, allergies) in man, and produce toxins
that affect plants, animals and humans.

A fungal skin infection often looks bright red and can spread across a large area.

P ST TR 6 $5 verfaat sfaddeTeiier aafthal ¥ Tetsil 3k ged MefRar &1 SR s Tod! §

HIS F HRUTEN AT 310 TG AT & TIeie Ge, are, WRMR, e aai@y ok sadismsmessiay anfae €
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SAHTLT Fad Ferooiar g & 3R e, STHRT 3k wgsat & o Avrere e g €

T, Th RIWAER $O Has Toliadl Breeiddoi=e €, St Agsy & T (S, THHUT, Tesil) T SROT a1 &, 3R A gerdf o1 Seames et &
St gieft, STeRT 3k Ageat @ wfd wd) B

TS TITeT T HHHUT SRR THHER ofTed TaadT & 3R U o3 & # thed TepelT 21

Q82. Sweat contains?

W (wf) # g 87
A.  Pure water/ {& 5ot
B.  Phosphoric acid/ BRW®IRE 3T
C.  Calcium phosphate and water/ HfcIgH hiehe T el
D. Water, salt and waste matter/ STef, @IdUT 9T 3TafIee Taref

Sol-

Sweat contains mainly water.

It also contains minerals (sodium chloride), lactate, and urea.

Mineral composition varies with the individual, their acclimatization to heat, exercise and sweating, the particular stress source
(sauna, etc.), the duration of sweating, and the composition of minerals in the body.

TR # er ¥ F I g &

TOd WS (W3 TeiRies), daee ik giar ot g &)

WIST TREAT ATk & TATY S &, THT, s 3R oHie & T 39T sgge, Ry avma Ja (T, onfe), i & eafe ok ok & wfasit &
AHAT|

Q83. Conversion of excess amino acid into urea takes place in?

3fe srfiAY st T gfvar # uRady wat g &

A.  Skin/ =T

B. Intestine/ 3@
C. Kidney/ g
D. Liver/ a®d

Sol-

The urea cycle in the liver helps in the conversion of the excess amino acids into urea.

Urea is produced in the liver and is a metabolite (breakdown product) of amino acids.

Ammonium ions are formed in the breakdown of amino acids.

Some are used in the biosynthesis of nitrogen compounds.

Excess ammonium ions are converted to urea.

If amino acids exist in excess, the body has no capacity or mechanism for their storage; thus, they are converted into glucose or
ketones, or they are decomposed. Amino acid decomposition results in hydrocarbons and nitrogenous waste.

e & g T Jrfafes et uflis wt gfaT ¥ aert 3 Hag ST 3

IRAT &7 I AR A BT & 3R T8 ST Ui &7 Aesiarse (SHs1s 3dme) 8

ST S e U F ey A B

B BT IUUNT SIS TIT & Saaawor & fasar S 21

s s amae giar & uRafid @ o B

T ST Uflis srftres wmam o Higg €, A e # 3% SRUT 6 $IE &mar a7 oF e §; 9 UOR, I TS A1 hie H gRafdd e S €, ar
faofed g o &1 erfiY TS & 3rged & TRUMIREwT gTsgidra- iR ATediomge Sufie gid &

Q84. In countries where polished rice is the main cereal in their diet, people suffer from?
31 291 fo 0 uifora (T foed &) I1ad qRar 3FTeT o TfAfad gar € 98T & &) &) SRt T0T & I &

A.  Osteomalacia/ 3fReafwafar

B. Pellagra/ et

C.  Scurvy/ Tdl

D. Beri-beri/ SQ-9%
Sol- In East Asian countries, where polished white rice is a dietary staple, beriberi has been a long-standing problem.
The history of the recognition, the cause, and the cure of beriberi is dramatic and is well documented in the medical literature.
Scurvy is caused by not having enough vitamin C in your diet for at least 3 months. Vitamin C is mainly found in fruit and
vegetables.
Pellagra is caused by having too little niacin or tryptophan in the diet. It can also occur if the body fails to absorb these nutrients.
Pellagra may also develop due to: Gastrointestinal diseases.
Osteomalacia refers to a marked softening of your bones, most often caused by severe vitamin D deficiency.

e ufRraré Qeft #, STat uiferer Tihe T1ad Ue STER T B, S9% Ue o vy & el o ) wha 2
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A ' Tga, HRUT IR SATST BT $fagrd Aledhig ¢ 3R Rifecar Tt # areht e F vafaa &1

THdT STUS MER | HH F o7 3 7EN d6 yaTe e It 78t €9 & oror gar 21 fer@ I mor su & wat ik afsomt & urar st &1
TATIT 3MER B 9gd H a1 I1 RS 81 & SRt giaT 21 78 a9 ff 21 ThaT & JI9 SR 37 UINa dedl &l gy o o fAthet gar 21
T g SRt F ot RAeRT & IodT 8: TReIgeTersTa A

FReawfaT sTudt &f3at & T Irorawa T FF Haffa axar ¢, S s 1R fFerfie € 6 v & sRor g 81

Q85. Human T-cell leukemia virus (HTLV-III) is known to cause?
U O g T SIS fANT0] HIET AT ITF TR FhelT 8
A.  Blood cancer/ ¥f&R & T
B. AIDS/vwgH
C. Cerebral haemorrhage/ Iset 6%t
D. Hepatitis/ 3desfed
Sol- Acquired immunodeficiency syndrome (AIDS) and AIDS-related complex (ARC) are caused by human T-cell
leukemia/lymphotropic virus type IIl (HTLV-III).
Human T-cell lymphotropic virus (HTLV) was the first human retrovirus discovered.
HTLV belongs to the Retroviridae family in the genus Deltaretrovirus.
Retroviruses are RNA viruses that use an enzyme called as reverse transcriptase to produce DNA from RNA.
The DNA is subsequently incorporated into the host's genome.
HTLV predominantly affects T lymphocytes.
TaTTE SRR R (Tgd) 3k Ugd A TefOd P (T3TR) AHE d-Tel ogbiaaT / fpigifte g ey Il (HTLV-111) &
SRUTE 2|
qa -Ae famhIgUe arRy (HTLV) UeaT A1Hd I¢araRy W@IelT 1T 27|
HTLV S Sceeransa # Yifafs ufer & wefee 21
YEIATIRY 3TRYAT IRRA & i STRTAY A ST BT ITE i & feiy Radf eiafhuey I Tesd & IuahT avd 81
BT &Y J1E # Aol & i # 2mfiet faar srrar €1
HTLV geer 39 & T fawpiamse! & garfad awar 81

Q86. Testosterone Hormone is produced in

TR FTHI BT Ieare g &
A.  Leyding cell /eiifST HfreT
B.  Kupffer cell /W SIfeT
C. Granulosa cell /AT AT

D. None of above /g8 & ®I§ it &l
Sol- Testosterone is produced by the gonads (by the Leydig cells in testes in men and by the ovaries in women), although small
quantities are also produced by the adrenal glands in both sexes.
It is an androgen, meaning that it stimulates the development of male characteristics.
TR BT IeaTed TIHTS (TNt H guor # Af3n Sifersit grr ok wieansit § stsrery gr) gRY e S 2, g et ot 7 siftges wfaat
ERT W B AT BT Ieare T S R
g Ua T ¢, fogeT 31ef R &5 78 gow fadivansit & faem o 3ufsa a=ar 21

Q87. What plant has the scientific name Solanum Tuberosum?
T e fva i &1 danfae A &2
A. Potato /3TTe],
B. Tomato /eATR
C.  Pumpkin /@g
D. Onion /@t
Sol- The potato is a starchy tuber of the plant Solanum tuberosum and is a root vegetable native to the Americas.
The plant is a perennial in the nightshade family Solanaceae. Wild potato species can be found throughout the Americas, from
Canada to southern Chile.
ST HATH SERITH I &7 T TG e 8 3R SRS Y ef Teall B
Tg dterr Agedts TRaR el & Us TReE) B STt S11e] B venfaat st @ A <foft Rt d6 ) srifer & o o ged)

Q88. The amount of water in the human body is-

TE ¥R § et & 7T et 8-
A. 10%
B. 20%
C. 30%
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D. 80%

Q89. One grams of fat gives -
T U a A Al B - -
30 grams of energy / 30 ITH FaAt
17 KJ energy / 17 KJ Faif
9 calories of energy / 9 FeRT Faat
D. 4MJenergy /4 M) Faf
Sol- Each gram of fat yields 9 calories. A calorie is a measurement, just like a teaspoon or an inch. Calories are the amount of

n w >

energy released when your body breaks down (digests and absorbs) food. The more calories a food has, the more energy it can

provide to your body.
TS UTH THT T 9 hellkl UT Bt &1 U Heilkl Ueh HIT B, Slh Teh THAT UT Ueh 5 I RE | Sl Sotf bl 9g HIAT & S A Nperd! & ST SMTepr
LRR WIS &Y Asar & (TuTdT & 3R raeiid axar 8) | e Wie & fSat arfe St &Y &, 3o+ & arfdle Faf amuss R &1 Uae o Tl 81

Q90. Which of the following plants are mostly grown from stem cuttings?
T AN A 1Y 1fem a5 Fred I 9 87
A.  Spinach, curry leaves, carrot / UTeid, B T, TR
B. Rose, sugarcane, potato / T[T, THT, 3TTe],
C.  Coriander, brinjal, tulsi / af¥ar, 3, gerdft
D. Petunia, phlox, turnip / Ug=1aT, Tele™, T
Sol- Plant cutting is the common method for vegetative propagation i.e asexual method by which plant can be grown.
This method can be performed by using stem, roots or leaf.
Stem cutting when placed in soil produces roots and leaves and grows into a new plant.
Sugar cane, roses, citrus, durant, grapes, cocoa, bougainvillea, carnations and many other plants are largely and rapidly
propagated by stem cuttings.
Tl Y Herd ameafae TR 6 G {3 & srafd sreifie Y fSas grr 9t & 3 o T 21
=g AfY & a7, 518 a1 axll &1 IuahT S T S Fehdr 21
T & Fers 1 g # v 1S ik ufeat et § ok ve w0 & w0 # fsfia g €1

T, TS, T8, TRE, 3R, HoT, SHRAfeT, SHT R 3% 37 1 R0 $fem grT 73 30 | 3R asfi & vaia g €
DIFFERENT TYPES OF STEMS

rhizome

Qo1. 'Richmond Lang effect’ results into Leaf fall from plants, it is induced by:-
Tars &7 T & gRumREsy dtet § uRgt ik €, 97 fad grr ot 22
a) Florigen / Tttt
b) Auxin / 3itfRiT
c)  Cytokinins / a=iifdHa
d)  Abscisic acid / 3rfeaf@® a1fds
Sol- Cytokinins give the 'Richmond Lang effect’, by which the aging (senescence) is delayed in plants.
It happened because of the retardation in the destruction of chlorophyll, etc.
Thus, it helps in the reduction of leaf fall.
AT Rervis A sthae 33 ¥, e dhell & 3w g (qer) F 2R A )
g FARIet T & famer # Hedr & HRoT g
T PR, Tg U M &Y 7 o H g e B

Q92. Involuntary wave like movement of esophagus is called:-

WIS AT & TG aal SR i T Dad 8-
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A.  peristalsis / SHIGTT

B.  anti peristalsis / ufd SHTGTT
C. clockwise / &gt &Y & &t fgam #
D. pushing / &&eT

From mouth

) Muscular contractions
d— oesuphagus of digestive tract
(peristalsis)

pushing the bolus —

Muscles contracting ‘
downward

Contracted  wuscles relsing
, muscles

Bolus of food

To stomach

Q 93. Which of the following tissues are responsible for the secondary growth of plants?
Frofafad 8 & Fi-a1 e drdt 1 fedae 3fe F fow swenft 22
A.  Cortex /ofcasT
B. Cambium /&faza
C.  Phloem /wiTH
D. Xylem /SiTgcH
Sol - Plants' secondary growth is controlled by the vascular cambium.
It is a thin layer of cells that separates the xylem and phloem in plants.
With the plant's secondary growth, which increases its girth size, these cells divide and multiply.
et $ Reftae gfe dae Sitgam grr Fdfea € &)
Tg HIABIS BT T Tae! R & S et F g 3R AT S Sfew el 2
1 & fgefias gfa & a1y, St 59 aRf & SR & derdt B, ¥ iy fwifaia ok o et 2

Q94. Which is the last phase of Mitosis?
e o siftm mRur BT AT 2

A. prophase /¥t

B. Metaphase /HeTthat

C. Anaphase /TATSsT

D. Telophase /tatthel

Sol- Interphase — Prophase — Metaphase — Anaphase — Telophase

SRl — YIthal —> HCThol —> THThST —> ol lthol

Qo5 helps our body get rid of undigested food.

_________ EAR IR &I 347 U9 §T WS @ PedpRT U | Heg T gl
A.  Protein /aié=

B. Fats /aar

C. Carbohydrate /&TsigTsse

Roughage /¥%st

Sol- Roughages, also known as dietary fibres are the type of carbohydrates, which are undigested by the body. The smooth

O f

working of the digestive tract is maintained by roughages. It absorbs the water and form bulk, which helps in removing the
waste out of the body.

Ao, O SMER TR & T F off T 14T B, FElEEse $ UHR 8, ST IR gRT U= TE ST & U o BT GO $T J T FRAT T4 gRT
FATT AT STTAT 81 8 U 1 TRG AT & 371 aoch A1 8, St ¥R & Srafane & arex Psprem o wag ovar 31

Qo96. Banana freckle is a plant disease. It is caused by a

Pl Y 7€ T G T I &1 UE T S SROUTEAT &

A.  Virus / faumg

B. Fungus /®a®
C. Bacteria /Sfiamy
D. Insect /&ic
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Sol- Banana freckle is a disease caused by the fungus Guignardia musae (telomorph) or Phyllosticta musarum (anamorph).
Generally, the causal agent of disease is referred to as Guignardia-Phyllosticta sp.

There are several different strains of the fungus that exist to infect different banana varieties around the globe.

Tt B TS Dad MuTESaT T/ (ATATh) T HIdiRedeT TORA (TIMIh) & HRTEN aTet SaT B

3T AR W, AT & SR Toie F1 Mufar-feeiReaer wadt & w0 § ST STar 21

P & B Ao TG & S AT R F R e B Rt 7 W et & forg g B

Qo7. Digestion is the conversion of large molecules into small ones. This is due to
U §3 UL BT I U T FUTARUT €| BT HRUT &

A. Better taste /9ER @I§

B. More saliva /3iféisd @R

C. Enzymatic action /gssHT forar

D. None of the above /T8 @ &1 ot T&t
Sol- Digestion is the breakdown of food by digestive enzymes into smaller components that can be more easily absorbed and
assimilated by the body. These smaller substances are absorbed through the small intestine into the blood stream.
T TSTTeHT gRT B Uedh! # Mo 3T geT & fOf iR grT 1fds s & smaeifia ok srerana fvar 5 wear 81 3 81 uerd uidt aiid &
AT { ¥ TATE H saeifia g &

Q98. In the stomach, curdling of milk is due to the action of

e & qor o1 ST Ty fbar & BRoT et 37

A.  Pepsin /afteT

B. Rennin 9T

C.  HCL /uerfrea

D. Bile Juice /U

Sol-

®  Chymosin is known as rennin, is a proteolytic enzyme synthesized by chief cells in the stomach.

® |[tsrole in digestion is to curdle or coagulate milk in the stomach, a process of considerable importance in the very young
animal.

® [f milk were not coagulated, it would rapidly flow through the stomach and miss the opportunity for initial digestion of its
proteins.

®  Chymosin efficiently converts liquid milk to a semisolid like cottage cheese, allowing it to be retained for longer periods in
the stomach.

®  Chymosin secretion is maximal during the first few days after birth, and declines thereafter, replaced in effect by secretion
of pepsin as the major gastric protease.

®  Chymosin is secreted as an inactive proenzyme called prochymosin that, like pepsin, is activated on exposure to acid.

®  Chymosin is also similar to pepsin in being most active in acidic environments, which makes sense considering its mission.

o HEARAT N IRT S FU T ST AT ], U § PRy wlfderat grT TR vs nidaesies sy 21

o U H 3HST YT U § U &Y STHET IT STHMT &, S 9gd 8IS AR & ST Hged 6 ufdar 21

o IR gu T SIwTE 7E e, A1 78 aof I U I e FeaT 3R ST TN & URMS Uree & SRR O g STl

®  FEHIRA WA g¥ B IR B e 0 -0 H 9edt aT &, THwd 7% U H &9 I07 9 &7 38 T 8

o ST 9IE UE B Al & SR Fewifae &7 Jra sifdean gidT €, 3R 3ud a1e fRrae a1t &, S v e Wids & ¥ o At & Ia
TRT wferernfia far Srar 21

o FHEAINAT B MPARAT T Ue NPT WUeen & +0 F Giiad par ST ¢, S UftaT &) @e viis & Tud § oM R 9 g 81

o FHEAIRT arcly ardTRur ¥ TR ifde Ay 81 F Ao & am ?, S e Ay & 2ad gu awsy § armar 21

Q99. Which one of the following is an antibiotic?
Fofafed # 3 F-a1 ve ufasifas 22
A.  Streptomycin /R@HERA
B. Tetracycline /egramsfaw
C.  Erythromycin /sdyHmEd=
D. Allof these /&t
Sol- As Streptomycin is used to treat a bacterial infection, it is regarded as an antibiotic.
®  Tetracycline is used to treat a wide variety of infections, including acne. It is an antibiotic that works by stopping the
growth of bacteria. This antibiotic treats only bacterial infections.
®  Erythromycin is an antibiotic used for the treatment of a number of bacterial infections. This includes respiratory tract

infections, skin infections, chlamydia infections, pelvic inflammatory disease, and syphilis.
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o IfP WETSRAT &7 IUTIT SHATu] THAUT & STl & foiw fvam Sirar 2, safoe 3@ Wheraifes urm Sirar 81

o oruTEfITH &1 IuENT Her AfRd faffd USR & Truuit & gortet & A vt Sirar #1 78w wemifes # S SR & e & dwaw
FTH FRAT 8| T VST HaeT SAT] THHUT T STl IReT &

o TRYHTERT T Wemifes € fSuedT IughT o SHaTy] TeHvi & IuUR & faw fhar ST 81 30w 9= oy & ST, T § e,
FATTS AT THuT, SO o & Ay sk Iuder anfre &)

Q100. The reagent which converts lactic acid to pyruvic acid is:
g AP HD, S Afded 3TFeT B UTSSaD 3TFeT H TUTART T &
a) Fenton's reagent / %heH sifieHe
b) Tollen's reagent / Slecte SAAHHD
Bayer's reagent / ¥3R 31WGHS
Grignard's reagent / T ifvieHs

Sol-
Lactic acid on oxidation with Fentons reagent pyruvic acid. In this reaction, OH group is oxidized to carbonyl group.

thed AMMFHS UTEfas 3 & TTY IR R Afdes | 57 Iffhar & OH THg FEie Tyg § siiadied & ST 1

(¢}
Fenton's reagent o
OH - . OH

OH o 0
oxidation

Lactic acid pyruvic acid
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